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Question Number : 1 Question Id : 8135612561 Display Question Number : Yes Is Question

Mandatory : No

One of the following scientists was the earliest to attempt more scientific basis for

classification

S0l 28,8y T0¢° eds ?f'gaﬁorr agsdm 890 AN RS 0 D ?gﬁe_‘.} Dd)?

Options :
Linnaeus

. @ Eé‘loi)a

Theophrastus

, x BATITRD

Aristotle

s tség"e'jé

Whittaker

. 886
4.% O

Question Number : 2 Question Id : 8135612562 Display Question Number : Yes Is Question
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Mandatory : No

Salient features like Embriophytic Tracheophytic. Cryptogams refers to

Doti 3D Bobow, TS Srererwy $Daiecat) Soth B VLT MR Yaxyotsd
2'11)52’&1)

Options:
Angiosperms

| x B0 Dazen

Gymnosperms

, o DS 2azen

Pteridophytes

Bryophytes

4% QO-JJ"EQSD

Question Number : 3 Question Id : 8135612563 Display Question Number : Yes Is Question
Mandatory : No

Archaebacteria differ from eubacteria in

€30) eS801r, ARrerSBaird o8 T7S" DBBetA?

Options :
cell membrane structure

P se 0:95:.‘.5 .l')o“ém

mode of nutrition
D’ DoEdo

2. %
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cell shape
3 % Sfo &5°Co

mode of reproduction

2 DBBS ITDo

Question Number : 4 Question Id : 8135612564 Display Question Number : Yes Is Question
Mandatory : No

Bacteria are grouped under four categories based on their shape. Study the given figure and
identify A. B. C and D?

5T\ tt) ergaio O 4 65N D@Romrd. B Hhior RxBoD A, B. C. D 0

(080tdoc.?
Options:

A—-Vibrio. B-Cocct. C—Bacili. D —Spirilla
, x A-ddawr. B-§B. C—erdg. D-0u

A —Bacili. B-—Spinilla. C - Vibrio. D — Cocci
A-erdg. B-py0y. C-d0ar. D-§%

2. R a

A — Coccl. B —Bacilll. C-—Spinlla. D - Vibrio

A-§s. B-erng. C-py0o. D-Jdar
3. ¢ -
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A — Spirilla, B — Vibrio. C — Coccl. D — Bacilli
A-py0wr. B-ddair. C-83. D — er0g

Question Number : 5 Question Id : 8135612565 Display Question Number : Yes Is Question
Mandatory : No

Select the mismatched par?
$08 T°S° HBGDLD 2 °IQ VA7

Options:
F.W. Went — Auximn
F.W. D08 — £3§‘3-5

1.8

Buchner — Zymase

ey 6 - B8
2

H. G. Korana — C4 pathway

H. G. oo — €, &5°060
3.v "

Frankel Conrat — RNA
i % Jose) §°¢5 — RNA

Question Number : 6 Question Id : 8135612566 Display Question Number : Yes Is Question
Mandatory : No

In cucumber the ovary is

8%0e5° evorEodo

Options :
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Absent

| % GOG

Epigynous

, v ©oGETDOS0

Hypogynous
, PoGETERS0

Perigynous

% " :.)U""Soc‘.g%o

Question Number : 7 Question Id : 8135612567 Display Question Number : Yes Is Question

Mandatory : No

Identify the parts labeled 1,2, 3,4 m the figure Caryopsis of Oryza?

500" gacsdago Aot 1,2,3,4 ermrod) MBodod?

Options:
I —endospermi. 2 —scutellum. 3 — embryo.
| — o6t \Go. 2~ Bwo. 3 — oo,
1. ® -

1 — pericarp. 2 —embryo.
)

I — DoOSSte. 3 — A7) Beo.

2. %

3.v

AP EAPCET 2021

3 — scutellum.

4 — pericarp
4 — DSV

4 — endosperm
4 — oSO Go
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| —scutellum. 2 —endosperm. 3 — pericarp. 4 — embryo

| —25 800, 2 —e0808 \Go. 3 —DUEIBo. 4 — Dokio
| —embryo 2 — pericarp. 3 —endosperm. 4 — scutellum
I —Doclo. 2 -D083tso. 3 — ©oSu8tNGo. 4 — A7), B0

Question Number : 8 Question Id : 8135612568 Display Question Number : Yes Is Question

Mandatory : No

(1) When carpels are free. they are called “A°
(11) When the carpels fused. they are called ‘B’
Here. A and B refers to

(1) DAY AT o) TN ‘A’ 90tTdd
(11) DGV DotVSorT Got3 I ‘B” e90erdd
DEIe5® ‘A’ A8t ‘BT a0 Ardotsd

Options:
A —syncarpous. B —apocarpous
A —DotiNSo. B —o0iWSo

A —apocarpous. B — syncarpous

, , A—edooingo. B - Roaiugo

A — monocarpous. B — mullticarpous

, » A8 Dudewainge. B - e dodoainde

A — mullticarpous. B — monocarpous

4% A — 230 Dudwoindo. B — 28 dodewaivdo
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Question Number : 9 Question Id : 8135612569 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Zygote 1s the link between two generations

Reason (R): Zygote 1s the product of two gametes and producer of next generation

A3ydo (A): Vookg Dao Bod STV TEH Jod
5"6ta0 (R): Ro0sng Dao Gocd Reir( Derw SV0NE HD GG BONHE 20BAK
SOTS ST°R)) GG BRod

Options :

Both A and R are correct and R 1s the correct explanation for A

. o A 208030 R e Bocr 233D 2080k R 036 A & 233 D56

Both A and R are correct and R is not correct explanation for A
A 5008030 R 2 8ot 0D 570 R 0938 A S D0 DH60 57

A 1s correct but R 1s wrong

3 A DBAS 57 R DO

A 1s wrong but R 1s correct
A DB 570 R DDA

Question Number : 10 Question Id : 8135612570 Display Question Number : Yes Is Question
Mandatory : No
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Out of the seven names given below. find out haploid cells?
(1) Antipodal cell
(1) Eggecell
(1)  Synergid cell
(1v)  Polar nucle:
(V) Male gamete
(vi)  Nuclear cell
(vi1) Chalazal cell

& S0 DlotdeS® DSBS ST Bwdod.?
(1) DHAFAS S0
(i) & Daseo
(111) VDO S
(iv) Sy SoBSo
(v)  2EQ Doddrr Dao
(Vi) So&S Steo

(vil) Serr2® Steo

Options:

(i), (i), (iv) & (v) only
e @), (D), (V) & (v) 3red

(ii), (iv), (vi) & (vii) only
, x (i), (v), (vi) & (vii) Sr-go

(i), (ii), (iii) & (v) only
5 » @, (i), (i) & (v) 20g3

(i), (iv), (iii) & (i) only
4w (), (), (i) & (i) Sgdo
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Question Number : 11 Question Id : 8135612571 Display Question Number : Yes Is Question
Mandatory : No

Match the following?
Column -1 Column - 11 Column - ITI
(a) Epidermis (1) Multi nucleated (p) Protection
(b) Endothecium (11) Homogenous (q) Formation of Micropores
(¢) Tapetam (111) One celled thick (r) dehuscence of anther
(d) Sporogenous tissue (1v) Fibrous thickness (s) Nourshment
08 TN BANGSG”
S0 - 1 S - 11 S - 111
(a) erar{d)o (1) wavSe@soing (p) 026
(b) o&Biato (ii) drda (@) Arg) D¢ Daren AR
(c) &idwo (ifi) D& & oo (1) Hod §30 Tyedo
(d) g Do wds s | (iv) Sodoatuadvomren | () Tim

Options:
. %« (a—i—q), (b—iii—r), (c—iv—q), (d—i—s)

5 o La—=ili—p), (h—hr—=x), (r—i=39), (d—=ii=¢g)
3 » (a—i—3), (b=ii—r), (e—iii—q), (d—iv—p)

4 % (a—iv—r), (b—i-s), (c—ii—q), (d—iii—p)

Question Number : 12 Question Id : 8135612572 Display Question Number : Yes Is Question
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Engler and Prantl published a phylogenetic system in the monograph

Doti6 0Bax Frotes I D5 DBV VotroBow) 6D AT

Options:

Die Naturlichen Planzenfamilien

o8 HEDBD Froxd DWIADS

Families of flowering plants

L« OB 6D DdBeh Frot,

Species Plantarum

2 % -E)DEZIE) é"oé?do

Genera Plantanun
4 % 80 Fotrdo

Question Number : 13 Question Id : 8135612573 Display Question Number : Yes Is Question
Mandatory : No

‘Go” stage of the cell cycle 1s characterized by

863 B80S ‘G, 62 DALV

Options:
Division

| % DL

Metabolically mactive
5 % L5800 Dol SATrGIr ol Gotob)

3.+
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Metabolically active
2ASae Dot goamésw ot

Proliferation

4 % DROE

Question Number : 14 Question Id : 8135612574 Display Question Number : Yes Is Question

Mandatory : No

Identify the labelled parts as 1,2, 3, 4,5 in the below Sectional view of chloroplast?

S0& RIWER rBSdeY aoéblu“émoé‘“ 1,2,3,4,5 ermrody (fBotsodt?

Options:

] — Stroma. 2 — Granum. 3 — Stroma Lamellae. 4 — Inner membrane. 5 — Outer membrane
| —e35088, 2-mrar.  3-e5508 D008, 4 — odd ész‘bn‘ 5= 5)’3’5 ést‘.ﬁa
® & )

| — Stroma Lamellae. 2 — Granum. 3 — Inner membrane. 4 — Stroma. 5 — Outer membrane

i | - es:508 H0dse, 2-r. 3 - e0dd dGo.  4-wd0s. §—eriry Sy

1 — Stroma Lamellae, 2 - Stroma. 3 — Granum. 4 — Outer membrane, 5 — Inner membrane
| e3¢ Hdsen, 2- U588, 3-rRr,  4-wrirjdo, - 086 &Gt
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| — Granum. 2 — Stroma. 3 — Quter membrane. 4 — Inner membrane. 5 — Stroma Lamellae

4. %

l-re. 2- uags. 3- ar‘:r'g S(o.

4 — 9030 e:bsc‘.sn.

5 - 53508 Hedgen

Question Number : 15 Question Id : 8135612575 Display Question Number : Yes Is Question

Mandatory : No

Below features mdicates which phase of mitoss?

(1) Chromosomes cluster at opposite spindle poles and their 1dentity 1s lost as discrete elements

(1) Nuclear envelop assembles around the chromosome clusters

(11) Nucleolus. Golgi complex and ER reform

Sof VLT ADNFRIY’ A B3 oo’
(i) Eardow dauriro Judriody Ey00 d)To 96 Bddo
(i) Sardon dduriro ther Sogs diio D6\CW
(ili) So&S odo, rrg P8, vuéga (33( 2w YIB) ) ddoddo

Options:

Anaphase
| % OO P

Telophase

T, e:oejsc:.‘:‘é

Cytokinesis
, Seaday BB

s-phase

4w SO3

AP EAPCET 2021
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Question Number : 16 Question Id : 8135612576 Display Question Number : Yes Is Question
Mandatory : No

Peptide synthesis inside a cell takes place in

Se3085” DDE Do 207 DB

Options:

Chloroplast
D0V

Mitochondria
- Dt aregosr

Chromoplast

- SETEDY

Ribosomes
e, 9656 oo

Question Number : 17 Question Id : 8135612577 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Mitosis 1s often called indirect division

Reason (R): Mitosis divides a parent cell into two daughter cells

Q3 ydo (A): D DB DB L DT B otrdd

S0 (R): D D2 DISorr 99 Stao ot 2 DY Strew IByETrow
Options:

Both A and R are correct and R i1s the correct explanation for A
A 2080350 R e Bodr 235D 208050 R 0958 A & 235 Dddes
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Both A and R are correct and R is not correct explanation for A

, » A S0Bain R e Codr R0 57 R e93& A S D0 DHGe 5°¢D

A is correct but R 1s wrong
A DTS 57 R 250

A 1s wrong but R is correct
A D057 57 R JBHS

Question Number : 18 Question Id : 8135612578 Display Question Number : Yes Is Question
Mandatory : No

Phloem parenchyma 1s absent

JDS Seere AL Stervo TAH

Options:

Dicot stem

. B AN~ D2 srolo

Dicot leaf
, w B56¥ D2 Do

Monocot stem

5 @ DS Y D2 SColo

Dicot root

4 % 9% OF D2 D

Question Number : 19 Question Id : 8135612579 Display Question Number : Yes Is Question
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Mandatory : No
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Match the following?
Vascular bundles Arrangement Plants
(a) Open (1) Different radial (p) Leaves
(b) Closed (i) Same radial (q) Dicots
(¢) Radial (1) Cambium present (r) Monocots
(d) Conjoint (1v) Cambium absent (s) Root
Sod TN ADGC?
TYS® o 0008 QA8
(a) Ddydo (i) 3B a‘]gb'g IR (p) vow
(b) Rodydo (ii) 28 §g dap (q) BLG¥deren
(c) a;ga«go (ii1) Derag Swervo ot (1) D8 6% Darew
(d) Ddocdnso (iv) Dwa5 86200 Gk (s) 2D
Options :

- (a—iv—p), (b—ii—1r), (c—iili—q), (d—i—s)

5 o Ca=iii—q), (b—ir—r), Ce=i—3), (d=i—p)

5 u Ca—=i=p), (b=i—u), (c=ii~%), (d—m—3)

4 % (a—ii—r), (b—i—p), (c—iv—s), (d—iii—q)

Question Number : 20 Question Id : 8135612580 Display Question Number : Yes Is Question

Mandatory : No

Which of the following statement 1s correct?

S0l TS VBV TE(e WB?

AP EAPCET 2021
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Options:

The collenchyma occurs in layers below the epidermis in monocotyledonous plants

. i DSV Darod” erirjeidie Brbd 2I) T'oew AreSn SHErvodL) Do

Sclerenchyma cells are usually dead and without protoplasts
s Gy6 Seaereodd’ S JTECeorT :)Q:.m 080t £ Do &0t

Xylem parenchyma cells are living and thin walled and their cell walls are made up of lignin

. T8 0 S0ePUod’R SEF WEIRDV) 80K DL Hked :)béag: bﬁlsm oot
3. ¢ v

The companion cells are specialized sclerenchymatous cells

w AT SEred B DE(EID GHi SETe

Question Number : 21 Question Id : 8135612581 Display Question Number : Yes Is Question
Mandatory : No

Select the correct combination?
(1)  Fruit wall of nuts
(1) Pulp of fruit like guava and pear
(111) Seed coat of legumes

(1v) Micropyle of pea
ABIDD SVOVEVR DotdE ol ?
(1) Do AL Derw DOSIPo
(i) 20 odain HaDs Dere Mz
(ili) SAr{D JOT© SSSo
(iv) e Aing) ol & Go

Options :

1. %8
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All except (i)
(i) 8Dy ) oD

All except (ii)
5 % (ii) SOy ealmm

All except (iii)

4 (i) 82y ) ot

All except (iv)
4 o (V) 80y e asao

Question Number : 22 Question Id : 8135612582 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): A primary succession is more common than secondary succession

Reason (R): Biogeochemical cycling is absent mn secondary succession

N3 do (A): BLA0DH RS0 S0l F RS WRSH VOG0T G0t
5°6t30 (R): BB0DH 80E2008" 25, Fr. 670D HUoired Got)

Options:

Both A and R are correct and R 1s the correct explanation for A
| % A 08030 R e Gor 200 08030 R 0938 A 8 20D D506

Both A and R are correct and R is not correct explanation for A

, % A 200ain R e Sodr 2D 57 R 038 A $ 208 J60 576

A is correct but R 15 wrong
3 A D0HS 57 R D050
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Both A and R are not correct
e A 00030 R 20 Godlr ‘&Q?{)D 5°)

Question Number : 23 Question Id : 8135612583 Display Question Number : Yes Is Question
Mandatory : No

Select the mismatched pair?
BAD D)D) THS” VOGS 2 5°IG?

Options :
Ephemeral — Opuntia

wu_js"Bs“w — 2o
1. ¢ 3

Succulent — Asparagus

.- SRZOSIOD AE) 0 — BVNT(ID

Non-Succulent — Casuarina

o GRZ0S0 5°A) AwE) e — ST

Halophyte — Rluzophora
o &)\ dwg) e - 3& o

Question Number : 24 Question Id : 8135612584 Display Question Number : Yes Is Question
Mandatory : No

A competitive mhibitor of succinic dehydrogenase 1s

288 cirEadE s, 'Y DE JoF WBGSo

Options :
.
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Malonate

205" DS

Malate

, % ST

Pyruvate

L % DOODES

a — ketoglutarate

4w @ — SE°TE

Question Number : 25 Question Id : 8135612585 Display Question Number : Yes Is Question
Mandatory : No

Identify the cormrect sequence of stages of Calvin cycle?
5°9(D SoDoS" BFV DV AR 008" 1B ?

Options:

Reduction — Carboxylation — Regeneration

LO0E0R — STHETAS — DIDLSG

1. 8

Carboxylation — Regeneration — Reduction
. Wbébe'?"q.s = YDIDB\E — L0DSOn

Carboxylation — Reduction — Regeneration

3 Wa§36a5 — S008080 — :DE\')MDQ

Reduction — Regeneration — Carboxylation
4% L0080 — DALY — s"c'aégif‘q.ﬁ
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Question Number : 26 Question Id : 8135612586 Display Question Number : Yes Is Question
Mandatory : No

Three major ways i which different cells handle pyruvic acid are as follows. except
$0b TRS" 2,880 80y DADID D) 3 ST’ PErdE LS 6] AP

Options:
L actic acid fermentation

eSS e SEHSAD

1, %

Photorespiration

S0 ?Sﬁsa‘b
2. ¢

Aerobic respiration
- TPO3D DaTeed ?Ssbgob

Alcoholic fermentation

in e30)) 35565 Sea DSOD

Question Number : 27 Question Id : 8135612587 Display Question Number : Yes Is Question
Mandatory : No
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Photosystem-]
5700 aﬁég'l
| I
[dentify the labeled parts as 1,2, 3,4 Light
in cyclic photophosphorylation? 5700 R\
380 508 T 0TAD D DotioBodd :
' W
D008" 1,2,3,4 2rtfo 0 HBotded.? :
4

Options:

1—(ETS), 2- (e acceptor), 3—(P—700), 4— (ADP +ip)

, 1 (Qugs o ). 2 - (gD (86). 3 — (P —700). 4— (ADP +ip)
1.9 e 8 ¢

1—-(P—-700), 2—(ADP+ip), 3—(ETS), 4— (e acceptor)
, 1= (P=700). 2—(ADP+ip). 3- (0TS 67w 330). 4 - (WF'S (E6)

1 — (e acceptor), 2-—(ETS), 3-(ADP+ip), 4— (P—700)

L, 1-(Qugdixe). 2- Qugddaer 2%). 3~ (ADP+ip). 4 (P—700)

1- (ADP +ip), 2—(P—-700), 3 - (e acceptor), 4— (ETS)
, 1= (ADP+ip). 2— (P—700). 3 (QFDEY). 4— (WES 6Twe HS50)

Question Number : 28 Question Id : 8135612588 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?
Column -1 Column - II Column - ITI
(a) Francis Darwin (1 Coconut milk (p) Auximn

(b) F.W. Went

(i) Rice seedling

(q) Phototropism

(¢) E. Kurosawa

(i) Coleoptiles of canary grass

(r) Kinetin

(d) F. Skoog

(iv) Oats seedlings

(s) Gibberellic acid

So8 TR 2SDOB0G?
36% - 1 3% - 11 36% - 111
(a) Y0 &8 (i) Eeyd Jen (p) ¥
(b) F.W. D08 (if) BTG (q) S0 STrdb
() E. &6 (iif) 86 i 208), Frodd Soxkowen | (1) TR
(d) F. amf (iv) &85y et 20g) e (s) @008 essvo
Options:

1 o (a—ili—q),(b—iv—p),(c—ii—s) (d—i=r)

> # (a—iv—p),(b—iii—r),(c—i—q),(d—ii—s)

2 u La—8—=8){b—1—dq) (c=ii—p)(d—iv—r)

4 % (a—i—r),(b—ii—s),(c—iv—p),(d—iii—q)

Question Number : 29 Question Id : 8135612589 Display Question Number : Yes Is Question

Mandatory : No

Which of the following is incorrectly matched?

& 308 Te5" VD 2 5VH AB?

AP EAPCET 2021
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Options:
Explant —— Excised plant part used for callus formation
- D5 \TFot] — STUR DB EETrIS &HITrHod ANE). Brfo

Cytokimin — Root mitiation mn callus
_— DEBID — 5D Wod D D6yEeo

Somatic embryo — Embryo produced from a vegetative cell

- TEAD Doe —— FEODEM0 Aol DEVED Dotio

Anther culture — Haploid plants

 DOAEE S Do — SVAS D) e
4. % @ @

Question Number : 30 Question Id : 8135612590 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



Match the following?

AP EAPCET 2021

Column -1

Column - II

Column - III

(a) Joseph Priestly

(1) Glucose production

(p) Photosynthesis

(b) Julis Von Sachs

(1) Role of sun light

(q) Plants restore air

(c) Jan Ingenhousz

(111) Role of air

(r) Green parts of plants

(d) T. W. Engelmann

(1v) Action of spectrum

(s) Release of 0,

308 T 2BGH0A"
3605 - 1 360% - 11 360% - 111
(a) XD DY () @r¥8aoyd | (p) Somadyiocird Sab

(b) erBabd IO FEy | (i) AareEd ¢ | (1) 208 0TI SO0 S

(¢) & Qo2 T

(iii) ™0 e (1) g6 BLRNIND 2T

(d) T.W. don&5 &9 5) 0, s

(1v) 60‘5 bg Do

Options:

1 » (a—i—s)(b—iv=gq),(c—iit—r),(d—ii—p)
5, u (a—iv—r),(b—ili—s),(c—ii=p),(d=i—q)
3 » (a—it—=p),(b~—i—q),(c—iw—r), (d~iii—s)
s o Ca—~dit=g),(b~i—r),(e—~H—a),(d~jr—yp)

Question Number : 31 Question Id : 8135612591 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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T. O. Diener (1971) discovered a new mfectious agent that was smaller than viruses. Consider the
following statements about this infectious agent.

(1) It causes potato spindle fuber disease

(1) These are infections RNA particles

(1) It lacks the protem coat

(1v) The molecular weight of its RNA 15 low

The above statements are assigned to

DO ot WD) T &) §Q Fogeds s°650 T. 0. ZA ST . & Fogs T°05
808 S0 HILBVR HOIDotsol.

(1) 28 Jerd YOG Lr(wd TG seuriERoed

(i) @) Fogas RNA Graen

(i) 26 FES 37y 49 docchd

(iv) & akg), RNA exerto 85,3
D HéLde BAS SEranotnG A’

Options:
Viruses

y, 1 -

Viroids

5 o DT"0E

Prions

L 0Dy

Lichens

n 93@«53

Question Number : 32 Question Id : 8135612592 Display Question Number : Yes Is Question
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Viroid's differ from viruses in

DoANELD DEJV Aol BIS° DBBotLA?T

Options:

Satellite RNA packaged with viral genome
. DS 2AEHVS 7§ BoDerctd TBTE RNA

Naked DNA molecules
, % ) DNA espen

Naked RNA molecules only
ol iy RNA o0 g

Naked DNA packaged with viral genome

. i D66 2R0(POS (5 Boedd ) DNA

Question Number : 33 Question Id : 8135612593 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The proportion of parental gene combinations was much lighter than non-parental type

Reason (R): Gene combmation 1s due to linkage of the two genes

ddydo (A): LTV D 2V SvaNs BT S0 25BN 2RV Sof) VRSO o)
56t (R): aah)&.‘av SUONSE) 5700 Dot AV AT &

Options:
A 15 correct but R 1s wrong

| % ARZVG 57 R 2BsTE

A 1s wrong but R 1s correct

5 % A D857 5° R 20
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Both A and R are correct and R 1s not correct explanation for A

3 A 08030 R en Godr DBAD 572 R 938 A S 20D D50 57D

Both A and R are correct and R 1s the correct explanation for A

4 ¢ A 20800 R e Godisr 20D 00030 R 0938 A 8§ 20D DH0e

Question Number : 34 Question Id : 8135612594 Display Question Number : Yes Is Question
Mandatory : No

RNA polymerase III transcribes 3 of the following except

RNA 92088 III &b 28) &) 86" 288 8y DA Jarcoth DodRowdy?

Options:
1 &t RENA

, « 557 RNA

., » hn RNA

4 % SnRNA

Question Number : 35 Question Id : 8135612595 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?
Column I Column II
(a) George Gamow (1)  Synthesis of RNA

(b) Har Gobind Khorana (11) Polynucleotide Phosphorylase

(¢) Marshall Nirenberg (1) Code 1s made up of 3 nucleotides

(d) Severo Ochoa (iv) Cell free system for protein synthesis
368 TOD 2BD6SE?

SR -1 Sdon - 11

(a) wg rars (1) RNA Qo323

(b) TS KD Fomr | (i) FOIrSaIrel 008

(c) Srges AoJwd (iti) 3 Ardairged’ §& Sairoiw

(d) 238 283 (iv) B vodiard sm 6ird %

Options:
1 % (a—i),(b—iii),(e—ii),(d—iv)

, % (a—ii),(b—iv),(c—iii),(d—1i)
3 » (a—iii), (b—1i),(e—iv),(d—ii)

4 x (a—iv),(b—ii),(c—i),(d —iii)

Question Number : 36 Question Id : 8135612596 Display Question Number : Yes Is Question
Mandatory : No

r-DNA inserted with in coding sequence results i the process

r-DNA & 28] R086 S3006" TDyotto S0 #BAG
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Options:
Gene activation
, 205D gmraésc: e95¢ o0

Chimeric DNA

, x 5085 DNA

Recognition sequence
(OBt (T NS
2 = 0

Insertional mactivation

. 'z?a:)ga‘)é ‘3:)%3&

Question Number : 37 Question Id : 8135612597 Display Question Number : Yes Is Question

Mandatory : No
Identify the labeled parts 1, 2, 3, 4 in the given figure?

808 D085 1,2, 3,4 &rreoRd MBotsod?

(d)

Options:
(a) — Largest. (b) — Smallest. (c) - DNA Bands. (d) — Wells
" (a) - es@:agb. (b) —©3d3)D. (c) -DNA uéw. (d) — erdHen
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(a) — DNA Bands. (b) — Largest. (c) — Wells. (d) — Smallest
> % (a) - DNA uéw. (b) —eabcgb. (c) — erdyew. (d) — 302y D
(a) - Wells. (b) — Smallest. (c) — Largest, (d) - DNA Bands

2 % (a) —eradyen. (b) - @@ﬁ)c‘ﬁla, (c) - ea:;g:)_ (d) - DNA n@w

(a) — Smallest. (b) —DNA Bands. (c) —Largest.  (d) — Wells
P (a) ~0300)d.  (b) -DNA&dew. (o) -oddsd. (d) -erpww

Question Number : 38 Question Id : 8135612598 Display Question Number : Yes Is Question
Mandatory : No

Clal Hind Il

The given figure is the diagrammatic 1)
representation of the E. Coli vector pBR322. Pvu |
Which one of the given options correctly Pst |

identifies its certain components?

Sal |
TS Do (Bar Do) Q. T Tirgo O
pBR322 Qg Ardved’
Pvu Il
Options:
, o 1—EcoR], 2 —BamH1, 3 — Ori, 4 — ampQ®
, x 1—amp®,  2—0r 3 —BamH1, 4 —EcoRI

1 — Ori, 2—BamH1l, 3 —EcoRl, 4 —amp®
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4 » 1—BamHI1, 2—EcoR], 3 —amp®, 4—Ori

Question Number : 39 Question Id : 8135612599 Display Question Number : Yes Is Question
Mandatory : No

The entire collection of plants having diverse alleles for all genes

28 AFT roﬁs::é‘ QA 650 o) Dsarjuso AT AT ALY v:)‘l BR[O
otPd)

Options :
Gene pool

&mﬁ P bla e bl
1. 8

Germplasm collection

D HEEG HECH
2. @

Pure lines hybnds

L o BB Do¥ S VosTeD

Cultivar crop

4 % DotoBd Vo) 657D

Question Number : 40 Question Id : 8135612600 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Organism Product

(a) Aspergillus Niger (1)  Ethanol

(b) Acetobacter (1) Butyric acid
(c) Saccharomyces (111) Acetic acid
(d) Lactobacillus (1v) Citric acid

(v) Lactic acid

S0 AN 2BDGBC.]
2D CLT
(a) U'rb')gg._gfa Qb (1) ROTS
(b) e’ ergb (i1) m556§ &80
(c) TN (i) DS es:0
(d) r8urnyd (iv) DBS 0o
(v) er%é B0
Options:

_— (a—ii),(b—iii),(c—v),(d—iv)
5 o (a—iv),(b—iii),(c—1i),(d—v)

3 % (a—i),(b—ii),(c—iv),(d—iii)

4 % (a—iii),(b—v),(c—ii),(d—i)

Zoology
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Section Id : 81356156
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 41 Question Id : 8135612601 Display Question Number : Yes Is Question
Mandatory : No

If the student wants to study the development of zygote. internal structure and function of
various pairs fo assign the organism to a particular phylum, the student takes the help of

following branches?

08 D Roakg Dave D3R, A 7708 Do EYo D LIADT BodB) Ty HY,
T8 DA DA BoIrvD) P\ 5T Taw BiFahe JWLLrD?

Options:

Developmental Biology. Anatomy. Physiology and Taxonomy

D5 BITRAW, 9088 07 LTI, %qusdé?‘:oan 208050 H0S6ETRAD
y il v Q = = i~ N <=

Embryology. External Morphology. Physiology and Taxonomy

Do A GTRAN, WodBd) U7 B3TRA, 300G, TREN B HBSERTRAW
2. % e = = 0 <

Embryology. Anatomy. Osteology and Physiology

baéébawoa», woe:bblw&ea?am, 29T R DAL %60@6&?&&»
3 ® s <= ® < <

Embryology. Histology. Physiology and Taxonomy

| :aa&‘a;}awom, SEPRT DAY, %66:56&?::3::», 208050 S0SBHT DA
4. & DR = <= N <
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Question Number : 42 Question Id : 8135612602 Display Question Number : Yes Is Question
Mandatory : No
ICZN 1s

ICZN s

Options:
International centre of Zoological Nomenclature
_— waaaiaaé Not)d D EITTRES T VDSWO

International code of Zygote Nomenclature

| ROLBYDDS EE 6D ZHE T20IS6

International code of Zoological Nomenclature
 BLBYDIS §E 6D 2durass TITWs

International centre of Zygote Nomenclature
. ROLB)NIS Vot BD FHE TSTW6

Question Number : 43 Question Id : 8135612603 Display Question Number : Yes Is Question
Mandatory : No

In Deuterostomia embryonic blastopore produces

CO(EE' Y oI Do) BBesod Sodo BAM ATEINBoEIR?

Options:
Anus
| @ TOD

Mouth
5 % O
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Gonopore

L« BSD6

Cocecyx
4 % PGS

Question Number : 44 Question Id : 8135612604 Display Question Number : Yes Is Question

Mandatory : No

Identify the correct option from the following statements?
1) Albumin 1s the smallest and the most abundant serum protem which 1s responsible for
colloidal osmotic pressure
i) Blood is red colored. translucent and shghtly acidic flud

1) Plasma constitutes 45% of human blood
1v) Gamma globules are the antibodies, also called immunoglobulins

v) Fall m the level of albumin n blood plasma results in oedema

B D)D) DSLAY odt BN TA MBorH?
) eund ed D) 060 S SBSANT G0, 652 STaNES gTdisn
2ETS T°6029) 3008
li) GS0 I Golt &6 16eSG 82T BADHO AWV 8 VEFD) $OA Gotwod
i) SR 65" 45% Fr) S 6RAT A
iv) e ran@den 3D pode. a8 adwiSradie e &ree wotrd
V) 65 6" e sran éficio 59 Suarery’ dido B30
Options:

(i),(iii)and ( v ) are correct but ( ii ) and ( iv ) are wrong
;w (1), (i) 08050 (v) %80 57 (i) Sodakw (iv) D8sY

(i),(iii)and (iv) are comrectbut (ii )and ( v ) are wrong
5 % (i), (iii) 08030 (iv) 2Be900HD 522 (i) S8akw ( v) D5
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(i),(iv)and (v ) are correct but (ii ) and ( iii ) are wrong
-y (i),(iv) 0dadn (v) 2B 50 (ii) 8o (iii) (STal-30e))

(1),(iii),(iv) and ( v) are correct but only ( ii ) 1s wrong
4w (1), (i), (iv) 208050 (v) 20003 5 Sdwo (i ) P8

Question Number : 45 Question Id : 8135612605 Display Question Number : Yes Is Question
Mandatory : No

Correctly matched set of phylum. class and example 1s

D020, BOAD DOAID &I 0e RO RADOBLCAE DE?

Options:
Protozoa — Mastigophora — Entamoeba

.- " E o — nr%)ﬁﬁ“v — dobrer

Mollusca — Pelecypoda — Pinctada

.':m;&b — 2050 — dosr
2.4 ©

Arthropoda — Diplopoda — Scolopendra

i 4 e.sg“i’i"c:" - AITe — ) SDor

Chordata — Cyclostomata — Pyrosoma

4 x SO - D8 JDoer - PEE I

Question Number : 46 Question Id : 8135612606 Display Question Number : Yes Is Question
Mandatory : No
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Label the parts corresponding to the numbers in the

diagram given below?

& Sodd -aasu&a DA Hocdd ROV 20o2oB o
PO H8otdol?

Options:

1 - Collar. 2 - Gull Slits. 3 - Proboscis. 4 — Trunk
% 1-s"00. 2 - 20y odgen, 3- QODRYPO(Booo. 4 - Aoko

1 - Proboscis. 2 - Collar. 3 -Tnnk. 4 - Gall Shits

1 - AVDIPER0Eo. 2 - 5086, 3 - AoZo. 4 - 20D DL
: ) QJ’GS 0 o&o A

1 - Proboscis. 2 - Trunk. 3 - Gill Slits. 4 - Collar
L w1 S0DRPO@eto. 2- Aol 3 - Ay Ddgen. 4-s08

1 - Proboscis. 2 — Gall Slits. 3 - Collar. 4 - Trunk
i 1 - S0QPoieoto. 2 - 2Dy Ddgen. 3 - sws. 4 - Qoo

Question Number : 47 Question Id : 8135612607 Display Question Number : Yes Is Question
Mandatory : No

Which 1s not a member of Echinodermata?

$08 TOS" RPSEB LD Bt 2?
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Options:
Sea Lily
5
YL

Star Fish

% PRNEG DESo

Ascaris
F,
5 @ u&’bﬁa

Ophiuthrix

4 % bbﬁ?@gb

Question Number : 48 Question Id : 8135612608 Display Question Number : Yes Is Question
Mandatory : No

The protochordate that doesn’t have heart. respiratory pigment. blood corpuscles but performs

respiration through the external body surface is

D TGS st 28" &ryato, T(RIG80, CEETTLD Dot Gotrow. 5°R) FREaD
T 300 &H0dwo (T 2rHS00E?

Options :
Oikopleura
2005 Qo

1.8

Doliolum

, » &daireo

Branchiostoma

- eroSairy’doe
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Pyrosoma

DOV S

4. %

Question Number : 49 Question Id : 8135612609 Display Question Number : Yes Is Question

Mandatory : No

Urinary bladder is absent in

ArTrIoie S 2Hew

Options:
Aves

Amphibians
alenbinle 3V

Mammals
3 % ﬁdt:s“w

Lizards

4w BROWD

Question Number : 50 Question Id : 8135612610 Display Question Number : Yes Is Question
Mandatory : No
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In the given diagram of the typical chordate. Identify the parts labelled as 1,2, 3,4, 5 and select
the correct option?

ol faésuda AT s'ger DRAD Aotdd 1,2,3,4,5 o) HB0) AR VErEEHE

Jos Bodoed?
Options:
1 - Notochord. 2 - Nerve cord. 3 - Gil shits. 4 - Heart. 5 - Gut
. 1- :'J;g do0%0. 2- ¢ Gollo. 3- '.311)'.’33 Oden. 4 - Fydade. 5-dM
;8
1 - Notochord. 2 - Nerve cord. 3 -Heart. 4 - Gil slits. 5 - Anus

, x 1-Dfadoto. 2-Tedodo. 3-Imdao. 4~ 2wy DDeew, 5 - o

1 -Nerve cord. 2 - Notochord. 3 - Gil slits. 4 - Heart. 5 - Gut
_— 1 -6 Gotto. 2- 3&@ So%o. 3- .‘m::) Ddgen. 4 - JydaPe. 5-db
1 - Nerve cord. 2 - Notochord. 3 - Gut. 4 — Gl slits. 5 — Heart

. 1-7¢ Godbo, 2-Dyadodo. 3-Drb.,  4- 2wdydsew, 5 - Ipydase
4, % 0 A

Question Number : 51 Question Id : 8135612611 Display Question Number : Yes Is Question
Mandatory : No
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Identify the components of neuromotor system in sequence?
(1) Kineto desmata
(11) Kinety
(111) Kinetosome
(1v) Infraciliary system
(v) Kineto desmal fibrils
(vi) Motorim

TATOS JDVS’ &) VoIBPCVR IR $0s’ MBowed?
(i) B ey er
(1) 38
(ii1) SV
(iv) Qo) 30s SIS
(v) B8 GRLe dodopen
(vi) 20°¢5°Bodo

Options:

1w (i) = (v) = (i) = (iv) = (i) — (vi)

2, % (ii) = (iii) = (i) = (iv) = (v) = (vi)
3 x (i) = (i) = (v) = (ii) = (iv) = (vi)
4 (i) = (v) = (i) = (ii) = (iv) = (vi)
Question Number : 52 Question Id : 8135612612 Display Question Number : Yes Is Question

Mandatory : No

All protozoans are / have

©d) Je5raden

Options:
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Pseudopodia
. i Qr{deren 8 Gotraw

Contractile vacuole
, % RoSB8SA $DA otrow

Holozoic nutrition

3 % FSrans Dae

Eukarvotic organization
4 o TSRS 2Hen

Question Number : 53 Question Id : 8135612613 Display Question Number : Yes Is Question
Mandatory : No

Pulse - Polio programme is organized in our country fo

2038 808" DSy - J'Dadr S*6{S00 IS, VEfo

Options:
Spread polio
i 'Oair D0

Cure polio
5 % &O0Ir daHARBORVL

Eradicate polio

. » TBaur Lrem dary Dotoe

Reduce polio
VA Shohold
4, % a
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Question Number : 54 Question Id : 8135612614 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct sequence of stages in the Ross cycle of plasmodium?

a) Sporocyst
b) Ookinete
c) Sporozoite
d) Zygote
e) Oocyst

é‘ﬁﬁ &&Cﬁ)n o30S, TR Swahoed’ VoD HED S,-‘JJ‘DJ_ $580tSoC.?
a) B
b) &S5
c) JyParonts
d) PDoaing Dao
) PR

LA
Options:
1 s d2e—->b—oa—>c
> c—=d—-b—-a—e

3¢ d—=b—oe—sa—c

g8 c2>d—=>b—-e—a

Question Number : 55 Question Id : 8135612615 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

Match the following related to drugs’

Drug Source Effect
a) Morphine 1) Acetylation of Morphine p) On central nervous system
b) Cocamne i) Cannabis q) Depressant
¢) Cannabmoids 1) Erythtoxylum coca r) Sedative & pain killer
d) Heroin 1v) Unriped seed capsule of poppy 5) On cardiovascular system

S G 00BoR S0 TN 2GR

SB000() S 20do
1) SOy ) S8y B Mpgaddabto | p) Sod 6 SR D
b) &8 i) SR DO Q) Gt
¢) svdTandy | ii) BdFwo S5 1) Sy / e Qo) G030
d >oawd Iv) gy, GOSN M | ) dmydiod 506 SRD
Options:

| % (a—iv—q), (b—iii—s), (¢c—ii—p), (d—i—r)
2“:w‘g.(;an—i'ef—r'), (b=m—=—p ) {e—ii—=s), (d—i—q)
3 % (a—i—p), (b—ii—q), (c—iii—1r), (d—iv—s)

4 % Ca—i—=z), (b—ili—8), (c=ii—p); (d=iv—q)

Question Number : 56 Question Id : 8135612616 Display Question Number : Yes Is Question
Mandatory : No

What external changes are visible after the last moult of a cockroach nymph

Qo8 4D B088° VErHT LS VIO Dﬁ’éﬁéa BOTS LrforT 0B Arddy
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Options :

Labium develops

. FDOHD DD
1. ® -

Anal cerci develop
 FroduJrorren DG
2. % @

Both fore wings and hind wings develop

” P QJrog Os),en Sudain DO TS) e eai)a;g

Hind wings develop

. 20 8S) e DB
4, % 2

Question Number : 57 Question Id : 8135612617 Display Question Number : Yes Is Question

Mandatory : No

Anus i cockroach occurs on

e5"BoS Do JrainQY D) G SVE?

Options :

gth sternum
1 % 0 3 ad:DOvse

10™ sternum

, » 102 ecdeso

Dorsal surface of 10™ tergum

L 10 3 50080 Dyaveo
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Ventral surface of 10 tergum

10 & DyDwse adéSve
4. <

Question Number : 58 Question Id : 8135612618 Display Question Number : Yes Is Question
Mandatory : No

The tropic relationship 1s expressed i terms of numbers: biomass or energy arranged one on
the top of its lower tropic level. resulting in a pyramidal shape. In case of a parasitic food

chain. the pyramud number 15

T8 Howorus) Rogr{borT S ) G703 Dot TE 33 Do 088" J'g
T D ePiod 2T ol Dol e20B\S S0 DONE 840 SR, DOR) £
e EFRLRE" Voar(dORDE J&r Gotdol?

Options :

Always upright

1% QQ:Q)DC.‘.‘J EFCOTT

Inverted
) & SHVSo LT

Neither upright nor mverted

3 % QETET S°ED, SIS0 S°ED

Either upright or inverted

4% RETENT TR T SVSoCIVNT TR Sotod

Question Number : 59 Question Id : 8135612619 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following factors has a negative effect on to the population growth rate

So8 T’ D T680 AT W DAOMEVD DAEFY HEPS0 W)’

Options:
Natality
| % RRI0L

Emigration
5 ¢ DVVT S0

Immigration
L VT D0
5.

Mortality
4 % SOOE0LD

Question Number : 60 Question Id : 8135612620 Display Question Number : Yes Is Question
Mandatory : No

Autoecology refers to

57 OR AR

Options:

Ecological study of individual species
" 2,8 2PAS Boddd BPHw RT°H00 ©E(aDo

Animal ecology

oDV BTS00 TR0
2. % <

Plant ecology

Q08 O RITD6E TR0
3. % <
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Population study
, 2T eGiado

Question Number : 61 Question Id : 8135612621 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are correct related to fresh water ecosystem? The correct statements
are
(1)  Pond is an ideal example to understand the fundamentals of aquatic ecosystem
(1) Indeep lakes. light can penetrate more than 200 m 1 depth
(i) Deep water lakes contain three distinet zones namely Littoral zone, Limnetic zone, Profundal zone
(1v) Littoral zone 1s the shallow part of the lake closer to the shore
(v) Limnetic zone is the open water zone away from the shore

(vi) The rate of photosynthesis is equal fo the rate of respiration 1n littoral zone,

200008 68 3[508 Rotsofiol) 039 HELIV HBotsol?

(i) w6 A0 SR8 MBS ods o3 §o Sy ut6Sod R Gorirdn

(i) 6% d0wE" 5708 200 b Sotd & 6'd0s St §A oy

i) 6% oMW" Surcd AR roare 637 an &) Serois Soecivo, S) 8 doiee,

006 Socvo

(Iv) S8 e éol, &' By, I 63 Fodd ITrotiv) Dotvo

(v) S0°8 Grorr Godl 2308 aroded) 8o B8 Sodeo

(V1) Serots Motivets’ S6maddediridosr du F(satr B8 DAPHoM Gotod
Options:

(i),(iii),(iv) and ( v) are correct
, w (1), (i), (iv) 208050 (V) RS DEede

(ii), (iii), (iv) and ( v) are correct
5 (i), (il ), (iv) SoBatw (v) 2B Dseden
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(iii ), (iv) and ( v) are correct

5 o (i), (iv) 208050 (v) 2P DD

(iv),(v) and ( vi ) are correct

4 % (iv ), (v) 0daiw ( vi ) VO DS

Question Number : 62 Question Id : 8135612622 Display Question Number : Yes Is Question
Mandatory : No

Eutrophication 1s the natural ageing of lake by

‘bd‘mbeﬁ‘ DO\GE DTRIN 325*51)1 e DEND otrd). BAS o 5680

Options:

Nutrient enrichment

s Hororen HBRY Do
1.¢ @

Sewage enrichment
5 % S DBAJ Do

Physical enrichment
FASorr DBAI Do

3. %

Fertilizers enrichment

i AN DAY Do

Question Number : 63 Question Id : 8135612623 Display Question Number : Yes Is Question
Mandatory : No
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Choose the correct statements related to ecological pyramids?

(1)  The trophic relationship 15 expressed i terms of numbers. biomass or energy arranged one on the
top of 1ts lower trophic level, resulting in a pyramid shape

(11) The base of each pyramid represents producers. while the apex represents the top order consumers

(1) The pyramid of biomass in sea i$ generally upright

(iv) Inthe case of parasite food chain, the pyramid of number is inverted

(v) Some species belonging fo two or more trophic levels is not limitation of ecological pyramid

09366 SBVEE VotloBot) NN PSLIVR Jods Basod?
(i) T8 dotorrery doarfdorr, 43 G3{0-3 Tor 3§ ©X8eE’ Tasraw p ol 'S
ot oo B\d Sor OE BEBY’ SRl
(i) 9O DODE dbErriod” & derdoen, 36 wrriod’ 6)8 36} DaIrATthey dokron
(if) G BS(03 DOE TGO PENT Gotod
(i) Do) & e Fusod’ Roz| DOE B0 SorkoearT Gotol
(V) 28 208 Bodd d:en Botd Jar Vodset) J8y) S 5“q5.3=unve5° Gotiblo A6 6G
HBa08 068 T
Options:

Except (iii ) and ( v ). all are correct
. Lil) sodain (v) 8, DAV ey HFID.

Except (ii ) and ( iii ). all are correct

Sy (i) 208ao (iii) 82y, DADID ) DFHD.

Except ( iii ). all are correct

Ly (i) 32y, DADID )y DBHD.

Except ( ii ) and ( v ). all are correct

4w L) 208050 (v) 82y, DABRD e0) 239D.
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Question Number : 64 Question Id : 8135612624 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

ListI List II

1) PO, of alveoli lungs a) 40mmHg

i1) PO, of atmospheric air b) 95mmHg

1) PO, of deoxygenated blood ¢) 104mmHg

1v) PO, of oxygenated blood d) 159mmHg

& S0l TR 2SDG06?
ba1 By

) &dBadw TrausT e’ PO, a) 40 M. Hy
i) TTH6e0 &' Mo’ PO, b) 95 .2 Hg
iil) e 6rd 6o PO, ¢) 104 Q. Hg
IV) 902 Verd 6508° PO, d) 159 Q. Hyg

Options:
. » (i=b),(ii—d),(iii—a),(iv—rc)

, % (i—¢),(ii—b),(ili—a),(iv—d)
3 ¢ Gi=1c), (i —d),{dii—a), (iv—b)

4 x (i—=b),(ii—d),(iii—c),(iv—a)

Question Number : 65 Question Id : 8135612625 Display Question Number : Yes Is Question
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Match the following respiratory capacities and respiratory volumes of a normal human adult?

Respiratory capacities Respiratory volumes
a) Residual volume 1) 2500 ml
b) Vital capacity 1) 3500 ml
¢) Inspiratory reserve 1) 1200 ml
d) Inspiratory capacity 1v) 4500 ml

B DI 28 F 00 ArIYHAS” (v ?Sﬁ&mgﬁw 20803 TR

DRVBATETLIAD O 28000
TR a'mg'ﬁw TR WADBArET
a) 093N WAVBArte i) 2500 ml
b) D& 3‘.‘1)3'5:1 1) 3500 ml
¢) r:—.was"a QRS INDBAT0 1) 1200 ml
d) GO &mgsn iv) 4500 ml
Options:

o (a—iii),(b—iv),(c—i),(d—ii)
> w (a—iii),(b—iv),(c—ii),(d—i)
2 x (@=1iv),(b—iil),(e—1),(d~1i)
4 % (a—iii),(b—i),(ec—iv),(d—ii)

Question Number : 66 Question Id : 8135612626 Display Question Number : Yes Is Question
Mandatory : No
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In a healthy adult man. the smallest type of leucocytes are

w8 BB ((DoBD IVG” B D) BY JESTTew

Options:

Lymphocytes

1. ¢ D) 5

Monocytes
QSN
2" =

Basophils

L x OIS,

Eosmophils
Qbs 33953

4, %

Question Number : 67 Question Id : 8135612627 Display Question Number : Yes Is Question
Mandatory : No

The condition 1 which Kidneys fail to conserve water leading to water loss and dehydration

due to impaired ADH synthesis or release 1s

ADH #o8 o eociods” eidid Su aurghorred A8 dodiosted’ Dovddde
20 D 30 S06atny g0t H0zoi OB Dedsotrey?

Options:
Diabetes mellitus

| % COIrBOd D

Glycosuna

A& Lrdalir
2. % &
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Ketonuria

, » SE'droasr

Diabetes msipidus

F, b= F,
A COEID fa:JJ.:c:.o

Question Number : 68 Question Id : 8135612628 Display Question Number : Yes Is Question
Mandatory : No

To mamtain a concentration gradient in the medullary interstitum. NaCl

G mm‘ﬁoguesﬁ e D908 AoGroweN8 NaCl

Options:

Passes out of the descending limb of Henle's loop and enter the blood of the descending limb of vasarecta

5 8 R0 L0 B8N Yo Aol) Hobbs) S TF0F OSETTY 6go"DE Shied.

Passes out of the descending lmb of Henle's loop and enter the blood of the ascending limb of vasarecta
5 % 730 08, BB T Aol wabbiS) 30y TITT GBI 65068 Bhiod.

Passes out of the ascending limb of Henle's loop and enter the blood of the ascending limb of vasarecta
% 0 P[0 A08) BT Aol LoHS Sy TIVT BTV 050D Bdicod,

Passes out of the ascending limb of Henle's loop and enter the blood of the descending limb of vasarecta
i 30 BB Aold wabit) ) TITT CSTTY 5o B0,

Question Number : 69 Question Id : 8135612629 Display Question Number : Yes Is Question
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Women 1n their post menopause are likely to suffer from

& ArSTE 6% DTS D ©DVS TBERE?

Options:
Arthritis
5D

1. 8

Osteoporosis

30375 D R
R -

Gout

Myasthenia gravis

=t les b ialont ol o 25
4, % ®

Question Number : 70 Question Id : 8135612630 Display Question Number : Yes Is Question
Mandatory : No

When ‘A’ stands for Axon. ‘D’ for Dendrites, S” for Synapse and “CB’ for Cell body, a
typical sequence of structures between a receptor and an efferent is

A - 8085820, D - GoG5. S - TG0 Vod dak (B - TFasn Brawi Ardedd.
808 TS DB Trirsody 000k BOTIE TAIL Socif D) o ol 6K §3v0 DB?

Options:
1« D-A—-5—-CB—-D—-A—-CB

, «D->CB>A—->S—A—-CB—D

3 ¢oD—>CB>A—->S=D-CB—A
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4. % A-D—-CB->S—-A-D->CB

Question Number : 71 Question Id : 8135612631 Display Question Number : Yes Is Question

Mandatory : No

Pituitary gland and Hypothalamus are shown in the
figure with labels 1 to 5. Identify them correctly?

2003 (ol 80K T 'GerR Hhio 1 Hdow)
5 @rrod Rdgded. TR R HBotod?

Options:

1 - Infundibulum. 2 - Hypothalamus. 3 - Portal Circulation, 4 - Postertor Pifuitary. 5 - Anteror Pifuitary

o L-seods,  2- T80, 3- WS oo, 4- 00 durd,

S—stbwﬁbﬁ

1 - Hypothalamus. 2 - Infundibulum, 3 - Portal Circulation. 4 - Anterior Pituitary, 5 - Posterior Pituitary

1-FJ0orS0. 2-5wos, 3~ AErS Y60, 4 - Qrog bwﬁm&. 5- 906 mﬁbﬁ

2 ®

1 - Hypothalamus, 2 - Infundibulum, 3 - Portal Circulation, 4 - Posterior Pituitary. 5 - Anterior Pituitary
5 1-Joora0. 2-swrads. 3 JoErs P60, 4- 00 bmse;ﬁ. 5- 06 bw,geab
4. %

AP EAPCET 2021
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1 - Infundibulum. 2 - Hypothalamus, 3 - Portal Circulation. 4 - Anterior Pituitary, 5 - Postertor Pituitary
l-serods,  2- B, 3- oies Yoo, 4-QPog urh. 5 - 06 durjed

Question Number : 72 Question Id : 8135612632 Display Question Number : Yes Is Question

Mandatory : No

Match the following about lymphocytes of mammals and select the correct option?

Character

B Cells

T Cells

1) Mature i

a) Produces antibodies

p) Cytotoxic *T" cells

1) Free antigens

b) Plasma cells

q) Cannot produce antibodies

1) Effector cells

¢) Bone marrow

1) Cannot recognize

1iv) Antibodies

d) Can recognize

s) Thymus

£6er0 DoT'pt50 (irBy $0d T BB 10D HAFETRFR) dodS Babod?

VEfo

B BoTR65

T QoI5

i) DO Bodito

1) 2060 68,0

p) ‘T’ seren

i) dErypdadse | b) ) s 1) P8GR &G BabdY
iil) Derse goo ) e 2 ) HBossI
iv) OB d) AdousroD) $) BRI

Options :

1 » (i—b=p),(ii—=d-r),(lli—c—s) (iv—a—q)

2.w(i—c—s),(ii—d—l').(_iii—b—p).(iv—a—q)

3 u (i—=b—p), (ii—a —g) Git—e—s),(iv—d—1)

4. % (i_c_s)'(ﬁ_a_QJ*(iﬁ—d—l‘).(iv—b—p)
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Question Number : 73 Question Id : 8135612633 Display Question Number : Yes Is Question
Mandatory : No

Seminal plasma in human is rich in

ArANVS” 8BS0 (PSS .;)»ané) Dot A8 I G0l

Options:

Fructose. calcium and certain enzymes
. o 953 58odo. £ dogdoww

Fructose and calcmm
, 258 20003 s*dawo

Glucose and enzymes

, x (P88 208030 JoFdoew

No calcum. no fructose. only glucose

. ArEE S Sotwod. sehado. PEEN S0t

Question Number : 74 Question Id : 8135612634 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Amniocentesis 1s used to detect the chromosomal defects if any, 1n the developing foetus.

Reason (R): Amniocentesis 1s a cytological study of the foetal cells for abnormal chromosomes.

TN (A): DB Botdd) drned’ EArd 20 LORTVD MBS G0\ES £
R

S0o (R): 47 Sere §Ard o GOAT(VRY S8} 8 0G(00%0 BoEDS Gy H08 ST
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Both A and R are correct and R 1s the correct explanation of A

3 A 200050 R e Tl D0 20033, R 0938 A 8 2000000 03500

Both A and R are correct and R is not the correct explanation of A

5 % A 2000350 R e Godr 20 9003, R @938 A S 2809000 0508 S°CD

A 1s correct but R 1s wrong
3 % A DS 57 R 2B~

A 1s wrong but R 1s correct
4 A D857 57 R 2BIS

Question Number : 75 Question Id : 8135612635 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): During the formation of placenta some layers of uterus are eroded and during
parfurition extensive hemorrhage occurs
Reason (R): Placenta of man 1s described as haemo endothelial placenta

TG (A): 20050 DO \ERI) D fio"y 3akdo A0S, §) Jden DGR Bodto Y
20 D0’ BAS 5T S0 2EMBE.
5600 (R): Srd)S° 20080 FAr ol GBS 20700 SBorseicBood.

Options:

Both A and R are correct and R 1s the correct explanation of A
;% A 200030 R e Soctr 20 220002). R 0938 A S 20900 D06

Both A and R are correct and R 1s not the correct explanation of A

- A 208030 R 2 Godye D0 2900302). R 0998 A & 20090008 9066 5°¢

3.v
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A i1s correct but R 1s wrong
A D0HG 57 R 2b57cD

A 1s wrong but R 1s correct

4 % A D85°¢L 57 R 20D

Question Number : 76 Question Id : 8135612636 Display Question Number : Yes Is Question
Mandatory : No

In man. which of the following genofypes and phenotypes may be the correct result of
aneuploidy 1n sex chromosomes?

3PS’ Tohs §arE Sww DR[OS DotroBoldd a(Erdren LB
GyB{raren & 298 VArErdo MBoued.?

Options:
22 pairs + Y females

22 2den + Y oew
s X ==

22 pairs + XXXY females
2 ade0 + XXXY pew

22 pairs + XXY males

3 ¢ 22 280 + XXY Qo

22 pairs + XX females

i 22 aden + XX dew

Question Number : 77 Question Id : 8135612637 Display Question Number : Yes Is Question
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Assertion (A): Pedigree analysis helps to work out the possible genotypes from the knowledge
of the respective phenotypes.
Reason (R): Pedigree 1s a chart showing record of mnheritance of certain traits over two or

more ancestral gener ations of a PEISO1L,

TGN (A): D08 By5 Do BEPIIS DotioBoidd 2AFI0 A Gobwols
SR8 68 DD HEIEH.
500 (R): 8 B L5890 G To odSol) ISy S Si8 g, Jrogs dred’ Q dorr
©08R0E FATFE) B DI Jo3Sys DT Botrd.
Options:
Both A and R are correct and R 1s the correct explanation of A

ik A 208030 R 20 Todr 20 90030). R 0938 A 8 282000 2506

Both A and R are correct and R is not the correct explanation of A
. A SoBain R en Godr 20 00dD). R 0938 A S 2800 D0 5P

A 1s correct but R 15 wrong
. A VOIS 57 R D05

A 15 wrong but R 1s correct
. A DB 57 R DT/H

Question Number : 78 Question Id : 8135612638 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?
ListI List IT List I
a) Duchenne muscular i) X-linked p) Mosaic appearance of
dystrophy DMD dominant skin
cx il " ;3 xpression 1s limited
b) Hypertrichosis 1) Sex limited ) Explesiois Jne
to only one sex
o e . i) X - linked 1) Progressive
t) Joecntmentlipment recessive weakening of muscles
d) Secretion of milk 1v) Holandric ) Ex#ssn*e gr?“th -
hair on the pinna
$o8 TN 2BDGE.
M1 ORI % I
4] L] -4 ]
p) éd&u QArPONS

) OB3) Sodd&n | 1) X- Borf wilrde g

dro8" ftsBoticio
Q) b5§som 2,8 Dorrd)d
b) 068N i) Do HONS
= H8d0 SI¢o
¢) AT ot otiolr
iif) X - Doff 00808 0Emo | 1) SolTL WO
N0t .
5) Ba) B0y ot
) 46 Fs0 V) Ferols | .
Baren b
Options:

1 o o=l —=¥), (b=iv=yg), (e—i=p) (d—=1i=q)
> n (a=¥F—1), (b=ii—s), (g—ii—p), (d—v—yq)
3 % (a—i—1r), (b—iv—s8), (e—iii—p), (d —ii—q)

4 » (B—i—p), (b=it—q), (e=ii =), (d—=0—3)
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Question Number : 79 Question Id : 8135612639 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Chemotherapy and immuno therapy are used to destroy cancer cells that might
have moved to parts of body
Reason (R): Chemotherapy has side effects such as loss of hair due to destruction of ‘hair

follicle cells

TGN (A): Birodd'D BBG FoTVL :.1‘5:)06 50 SRy 6o D8y Sndak B
B¢ DSy 1A T30 B,
5660 (R): 60508 Qéégé‘ 0 YBse seren T3d0 S0 H Y o S0

(' D08 erot) GO PR Gotrow.

Options :
Both A and R are correct and R 1s the correct explanation of A
A 58050 R e Todtr R0 2000). R 938 A 8 208200005 D566

Both A and R are correct and R 1s not the correct explanation of A
>« A 200030 R e Gotr 28 9000. R ©938 A 8 2de00d D00 5760

A is correct but R 15 wrong
. A D0XS 57 R 2B

A 1s wrong but R 13 correct

. A D05 57 R 2DT/S

Question Number : 80 Question Id : 8135612640 Display Question Number : Yes Is Question

Mandatory : No
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Recognize the figure and find out the correct
matching?

808 (hBotod BAKY T RATT R0k
ho80tdod?

-

Options:
1 - PR Segment. 2 - PR Interval. 3 - QRS Complex. 4 - ST Segment, 5 - QT Interval

| % 1-PR ®doko. 2- PR @odbo. S-QRS"&oéiﬂ:p. 4-SToote. 5-QT ®oddo

1- PR Interval. 2 - PR Segment. 3 - QRS Complex. 4 - QT Interval. 5- ST Segment

> % 1- PR ©odd0o. 2-PR®oko. 3- QRS ‘&)ué‘;-:p. 4 - QT ®oddbo. 5- ST oo

1 - PR Segment. 2 - PR Interval. 3 - QRS Complex. 4 - QT Interval. 5- ST Segment
2 % 1-PR ®oko. 2-PReosddo. 3- QRS ‘é}o%‘!’gn. 4- QT ©othGo. 5- ST olio

1- PR Interval. 2 - PR Segment. 3 - QRS Complex. 4 - ST Segment. 5 - QT Interval
i 1- PR @030, 2- PR ®oto. 3- QRS mg;.;o 4-STaoke. 5- QT eodddo

Physics
Section Id : 81356157
Section Number : 3
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks: 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 81 Question Id : 8135612641 Display Question Number : Yes Is Question
Mandatory : No

Force of friction and tension in a string are N Origin

a0 GIE); DG DoBOIN SJT” WPV JTVAW

Options:
Gravitational forces
mwssgm g e

1. %

Electromagnetic forces
| Dmgaab&a,oa A >2 I
2. ¢

Nuclear forces

3 x SOGS eren

Weak nuclear forces
20T Sods eeren

4, %

Question Number : 82 Question Id : 8135612642 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

Column-I Column-II
(a) Conductance (1) Gray
(b) Magnetic Induction (1) Lumen
(¢) Absorbed dose (1) Tesla
(d) Luminous flux (1v) Siemens

& 808 T BADGBE?
DEN-1 SN -I1

(a) ororsd 1) 0
(b) o) 08 6w (i) e
(c) ¥4 roedd (i) &
(d) D88 Do (iv) A0Sy

Options:
. % (a—i),(b—iii),(c—ii),(d—iv)

, » (a—iv),(b—iii),(c—ii), (d—1i)
3 % (a—iv),(b—i),(c—iii),(d—ii)

4 ¢ (a—iv),(b—iii),(c—i),(d—ii)

Question Number : 83 Question Id : 8135612643 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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For a body projected vertically upwards with a velocity v, from the ground, match the

following?

Column-I Column-II
_— , . Vg
(a) vy, (Average velocity) B =
L

. +
(b) ugy, (Average speed) (11) <. : - over any time-interval
Q) oo (i) =2 over the total tme ofis flght

w7 Pl

(d.} Tdestent N

APRRAC VYT 1, SAE DGLES YD $08d T 28 Bakod?

36001 3608 11
(ﬂ) m(ﬁﬁm Mm) (1} E
v
i vt -
(b) gy (0 3E) ) = over any time-infen
20SAN IGANT waﬁaaé‘

(€) Taccent B0 SoOAW

(111) -;f- over the total time of its flight

2080 HSISTVANY'

(d) Tescent OO ST0&0

(1v) =
g

Options :

, x (a—iii),(b—iv),(c—i) (d—ii)

3. % (a—iv),(b—1),(c—ii), (d—iii)

4 % (a—iv),(b—i),(c—iii),(d—ii)
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Question Number : 84 Question Id : 8135612644 Display Question Number : Yes Is Question
Mandatory : No

A stone 1s just released from the window of a train moving along a horizontal straight track. The

stone will hit the ground followimng a

£02 DATOABAVT 6 Jen EPUD HOLFHRIR) w8 Jeo 888 Mot w8 Taw &7
G50 0 BERA. 8 Ton S T8 Ardaw J6?

Options:
straight line path
ROW0® QTG

circular path
5 Br°GA0

parabolic path

DT°DV0N) QT°000
3. "

hyperbolic path

L 9GNUTTOAD a0
4, % 0

Question Number : 85 Question Id : 8135612645 Display Question Number : Yes Is Question
Mandatory : No

A particle starts from origin at t = 0 with a velocity of 151 m.s™ and moved in xy-plane

with an acceleration of 151 + 20 ] m.s™2. The y-coordinate of the particle when it has

180 m as 1ts x-coordinate 1s

JreRodo) t = 0 36 0GP S0 151 m.s™ Siod (151 +20) ) m.s™ S(Gmod
Xy 8R0p SERVT 08, D S0 B0 Sto y — AAFVLAW 180 m BPHAE, ©F DDAV
36 ¥ — AArHLAN
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Options:
1 % 180m

> % 120m

3 ¢ 160 m

4 % 200m

Question Number : 86 Question Id : 8135612646 Display Question Number : Yes Is Question
Mandatory : No

A student whirls a stone 1 a horizontal circle of radius 5 m at height of 5 m above ground. The
string breaks and the sone flies off horizontally. The stone covers a horizontal distance of 20 m,

The magnitude of centrifugal acceleration of the stone when 1t breaks off 15 (g=10m.s7%)

AradS 5m ', w8 g 5 m a'*s&gb.ué‘ £33 2ATd06 HB330E" w8 TP
ST . 8 AT Traw £8a DreddAnTT Janed. & trow 20 m £88 direds
&rbo Hasredodlod. Tmaw 8 Tans) o) ediot d(0mD (g=10m.s7%)

Options :

>
—

1 & 80 m.s

> % 90 m.s 2

-2
3 3 140 m.s

4 % 163 m.s 2
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Question Number : 87 Question Id : 8135612647 Display Question Number : Yes Is Question
Mandatory : No

A force acts on a body of mass 50 kg. for 10 seconds, When the force stops acting on the body. the

body covers 80 m 1n the next 10 seconds. What 1s the magnitude of the force?

10 8008 50 kg G303 o S0P} 8 wudw HITI) . SWY 6 HAFD LErd)
00008, 368 10 A$R00Y" 80 m GrEA HAIrHN Bod. LKL AR08, HBAFHD Jod?

Options:
1.« 40N

> % 90N
3 % 30N

4. % 60N

Question Number : 88 Question Id : 8135612648 Display Question Number : Yes Is Question
Mandatory : No

The graph between resistive force F acting on a body and
the distance covered by the body 1s shown in the figure,
If the mass and nitial velocity of the body are 25 kg and 1 e

F(N)

2 m. s~ respectively. find its kinetic energy after having
travelled a distance of 4 m

0wy / |
28 VY P HABA S W F 2805w ;
ol Grore Sogf AR D Hudwe’ 1 '
EPOUGAR, S e, @503 25 kg 2Bk & 0 1.2 3 4 x(m

ciog), §'9DrAA0 2 m.s7h. SR DArEeddd crdiw
dm oYW, T aws), (83

Options:
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1.« 1017

2' % 20 J

3 % 4017

4. & 5017

Question Number : 89 Question Id : 8135612649 Display Question Number : Yes Is Question

Mandatory : No

The angular speed of a fly-wheel making 180 rpm is

180 rpm BoEEAS (S o Bgan aws), Saab &
Options:
.« (4m) rad.s™

, o (6m) rad.s™ 1t

5 % (2m) rad.s™

54
(-—) rad.s™ 1
4. % \ T

Question Number : 90 Question Id : 8135612650 Display Question Number : Yes Is Question
Mandatory : No
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A solid cylinder of mass ‘m” and radius 1" starts rolling down an inclined plane of inclination
6.1f the friction is just enough to prevent slipping. the speed of its centre of mass after it has
descended through a height *h’ 1s given by

m @3O3, 1 a';sa'gm) $OAD w8 DM ArHE0 § T Eraan $9A 8 e dudv
560 F0odotlB. ArDA 2roseT BGOEr o G303 Sodo 1t IS $o88
BAR0E, & Do) H6 B3[0°3 Sodidw aog), S Jod?

Options:

4
\/?g’*
1. %

Question Number : 91 Question Id : 8135612651 Display Question Number : Yes Is Question
Mandatory : No

If the raduus of a spherical object. rotating about its diameter with a time period of 2 seconds, 18
reduced to half its actual value. keeping its mass unchanged. its time period becomes
(assuming zero external torque)

228300 93563 S0 $9A ) e cs;,g'ls Zonan SOy w8 s S
a8 wﬁ&ganm 89 T dnd’ S Sfotrd. o) (T3 QO o0l &
Ao awg) 58 86 swo ___ (e &r§), 3djo eowd)
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Options:
Remains the same
boblelnb

1. ®
2. ® 6s

3. ¢ 05s

4. ® ls

Question Number : 92 Question Id : 8135612652 Display Question Number : Yes Is Question

Mandatory : No

A body of mass 10 g 15 executing simple harmonic motion about a point with an amplitude 20 em.

If its maximum velocity is 100 em. s, its velocity will be 50 cm.s™* at a distance of cm

from its mean position.

10 g &0°3 &ORD a8 3709 20 cm o HONAS S LE 008" &3 8. & dwg),
dﬁgﬁﬁan 100 em. s~ eoond m-c_:»sms %‘éa Dol dod Ardo acg (cm ¢ ) @8 50 cm.s~*
Stio $9A Gocor?

Options:

1 »10¥/3

3 ® 5\f§

4 % 20V3
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Question Number : 93 Question Id : 8135612653 Display Question Number : Yes Is Question
Mandatory : No

A spring balance is loaded with two blocks m, and m,. where m, is ngidly fixed with the
spring and m, 1s just kept over block m,. The maximum energy of oscillation possible,
assuming both the blocks are always in contact with each other. 1s
8 ok 1y 2803 1, B Bocd BT IVS PR BT, Lo’ my B
D)ot 8 By Diowe.dB. m; Bo), my B DA Eomedd. m, B0, my 8 ‘103636‘
GR) Q)M S[5R8 T[S0k (68 S0 38
Options:

m{g?
1.% k

m,g?
o & 2k

2.2
ms g

3. % 2k

(:rnl+1r1'12)2g2
4. ¢ 2k

Question Number : 94 Question Id : 8135612654 Display Question Number : Yes Is Question
Mandatory : No

A satellite of the earth is revolving in a circular orbit with uniform speed ‘v, If the
gravitational force suddenly disappears. the satellite will

2 ot w6 600 D668 9d v° & ByTT6 S5 Fwrren Boni) .
5 Qo MDE™(SER VKL OGNS, & GOHTI

Options:
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Continue to move with velocity ‘v’ along the original orbit

. D 55595‘ V' DAEANS SCOMDAT Sotod
Tz, ™

Move with a velocity ‘v’ tangentially to the original orbit

D2y SEJE 036y BB v’ DABNE SERDBE
B 4

Fall down with increasing velocity
S x DOB0S" DODSVSE HAT'B0d

Comes fo rest somewhere on the original orbit

D s516° B w8 T JF\w DA HAed
4. % P -

Question Number : 95 Question Id : 8135612655 Display Question Number : Yes Is Question
Mandatory : No

[dentify the correct expression between radius (R). density (p) and the escape velocity from the

surface (v, ) of a planet.

28 (iPdn 00s) 353'3.5» R 208050 Fo@d p ©and, & [ &Hddva0 Aok
VPN DA

Options :
o fﬁ
&
Ve W R
> % Ve X p- R

1
v, O ——
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4 o Ve « R. \fli;

Question Number : 96 Question Id : 8135612656 Display Question Number : Yes Is Question

Mandatory : No

Steel 1s preferred for making spring over copper. Why?
2)of SOIEd BV T°H ST DT D FTHD AT, JoEDVD?

Options:
Steel 1s cheaper
L DO SIS EGD3008

Young's Modulus of steel 1s more than that of copper

o°f ST 065 £ aBofh AESD AEURS
2. ¢ S

Youngs' modulus of copper is more than that of steel

L DO ST) TH & abof MrSAD J8D

Steel 1s less likely to be oxidized
DS BLY) ST 9818660 BoEOBd

e

4. %

Question Number : 97 Question Id : 8135612657 Display Question Number : Yes Is Question

Mandatory : No
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1

An air bubble of radms 1.0 em rises with a constant speed of 3.5 mm s~ through a liquid of

density 1.75 x 10° kg m ™. Neglecting the density of air. the coefficient of viscosity of the

liquid 1s kgmts

Fodd 1.75 X 10° kg m™3 sOAS gdoeS” Ed@é 30 3.5mms™t & 1L.0cm .1“53‘2&)
SDA® a8 md endd pS ScwucidR) 8. D Fodddy )8, G5 :’lﬁ’" LS00 80
kgm™s™ o

Options:
1 % 54.5

3 ® 163.5

4 % 218

Question Number : 98 Question Id : 8135612658 Display Question Number : Yes Is Question
Mandatory : No
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Identify the incorrect statement about ‘angle of contact’;
(a) Angle of contact depends upon the inclination of the solid surface to the hiquid surface,
(b) If the angle of contact of a liquid and a solid surface 1s less than 90°, then the liquid
spreads on the surface of the solid.
(¢) Angle of contact increases with increase in temperature of liquid.

(d) The value of angle of contact for pure water and glass 1s zero.
o §tr 8 DotioBoN & §od TS’ HBTD T8
(a) Ryory Eeadw G93erd8 0o SO &) TD BEEDE Eotdod
(b) @, 200 S :.uqsvg K:Jw;) §tasw 90° ST\ &8sy I &ob), (390 S0
SE830D DRBotiaid
(c) & &Y DO, Dyom) Eraiton Deasd Sree DAXDRD
(d) PG00 A~ TS R1T™) S e
Options:

(a) only
1« (a) SodaD

(b) only
.« (b) 3rg®

(c) only
5 » (€) 9@

(d) only

4. 8 (d) .'..'D‘Qa)

Question Number : 99 Question Id : 8135612659 Display Question Number : Yes Is Question
Mandatory : No
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When heat 1s supplied at equal rates to three substances A. B. C

and their temperatures are plotted against time, the following
graph 1s obtained. Which material among A. B and C has the

least heat capacity?

A. B 208050 € &3 HoT0) A8rd HBarmred’ G20
RG0" Bobercdoes. HLANY Wraded &1 Sobakw
TPRAD DIV T Aohde. 4. B &bain € e’

B8 B89 aom%m &) 8?
Options:

1. 4

. % B

3.8 C

C'an’t be determined

:3‘:’:595‘::»
4, ®

f"‘t
X
s’
B~

4

t(s)

Question Number : 100 Question Id : 8135612660 Display Question Number : Yes Is Question

Mandatory : No

100 L of gasoline maintained at 10 °C 1s filled into a steel tank. kept in a room at 10 °C. When

the temperature of the room s increased to 30 °C, how much gasoline will overflow? Given.

tstper = 12 X 1076 °C™* and coefficient of volume expansion for gasoline = 95 x 107° °C”*

10°C 60 56 &) 100 Bog mIBS, 10 °C 36 &) ABS"D a8 J6 tars &°

QoD0GAG. 46 o), &IHSS DAOMEY 30 °C Lowd dod MDD TohTh?

(ass=12x 1076 ¢ =95x 107 °C™")

'V ortps

Options:
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1 u 1370

5 ¢ 1821

3 % 1L60L

4 % 7.20L

Question Number : 101 Question Id : 8135612661 Display Question Number : Yes Is Question
Mandatory : No

o _ V(L
Two moles of helium gas are taken along the path ABCD (as ( )m | )
shown). The work done by the gas 13 " B ;
B0 reww PO T HRANES’ Brddt ABCD 4
SrgA0 T SDI TEHA. Tek0) B HI 542
[ Y R W ————
0 250 500 750 1000
T(K)

Options:

2000R (1 +1n (;))

1.8

, 500R(3 +In(4))

s008 (2 +1n (29))
n —_—
3 % .9

1000R (1 +In (E))

4. 9

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 102 Question Id : 8135612662 Display Question Number : Yes Is Question
Mandatory : No

In the kinetic theory of gases. 1t is assumed that the gas molecules:

TOS0L LIV Bagoaané‘, T30 EVHVN) & Sod DBV EraTI .

Options:
Repel each other

: 2,8 T RS :Jsgm:b 0870

Collide elastically

DAHS 9D BoOT"OD
2.

Move with uniform velocity

3 DEEB DS EdenTEaD

Are massless particles

. G T3 GeTrdd STFe) &otIPoN

Question Number : 103 Question Id : 8135612663 Display Question Number : Yes Is Question
Mandatory : No

A transverse wave 18 represented by x = Asin(kx — wt) . The velocity of the wave 15 given by

&S r‘.’id&é 36010 Ardordy E6HA x = Asin(ky — wt). Sbofiean) aos), Rlgh WV

—_—

Options:
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3 8 wt

4. v @[k

Question Number : 104 Question Id : 8135612664 Display Question Number : Yes Is Question
Mandatory : No

Two equiconvex lenses. each of refractive index 1.5 and focal length *f" are kept in contact
with each other. and the space in between the lenses 1s filled with a liquid of refractive index

1.75. The focal length of the combination 1s

aé,ejbé esan 1.5 bk a“asﬁoadan f 60A Bocod 'a:d_c):aam S002S°0 S5

0y6,8° Gotstadt, T 2065 o ar? 1.75 938593 esaw SAN w8 @i B
DontItHE. oS & Dodirfio awe), o0 T2[oB650 Jod?

Options:

f

Question Number : 105 Question Id : 8135612665 Display Question Number : Yes Is Question
Mandatory : No
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A screen 1s placed 50 cm from a single shit, which is illummated with a light of wavelength
600 nm. I the distance between the first and third maxima in the diffraction pattern 1s 3 mm.

then calculate 1ts sht width.

600 nm 0ot 56300 $8AD 57008 2 o OOER DS BS0dAN BT, DDELD, B6L
2068 (0 P60 50 . D56 HS" Awcsty Bty rcd ABTVE s e Er6
3 mm eod, Db ey

Options:
1 « 0.2 mm

> % 0.4 mm
3 % 0.3 mm

4 % 0.1 mm

Question Number : 106 Question Id : 8135612666 Display Question Number : Yes Is Question
Mandatory : No

An infinite line charge produces a field of 18 x 10° N.C ™%, at a distance of 4 cm. What is the
linear charge density?

w8 ©dod Bar DAEHA 4 cm Aroaw 36 18 x 10°N.C™" £y $DRockor. dasd
3% Fodd Jodd?

Options:
. w 18pC.om™

> % SpuC.m™*

3 ¢ 4ucC. m !
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4 % 10 puC. m ™1

Question Number : 107 Question Id : 8135612667 Display Question Number : Yes Is Question
Mandatory : No

The variation of electric potential with distance from a V(volt) A

fixed point is shown in the figure. What 1s the value of 6
electric fieldatx=2m? ;
(S TBIHS 8 N6 Do) Mool GreswS 2
AL HLANS” SO, ¥ =2 m N 365355 .
£350 GIng) Dewsd dod? 01 2 3 xm)
Options:
1.¢ 0
6
2 % 2
6
38 1
6
4. % 3

Question Number : 108 Question Id : 8135612668 Display Question Number : Yes Is Question
Mandatory : No
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A capacitor of capacitance 4 uF 1s charged to a potential of 100 V. It 1s then disconnected from

the battery and connected in parallel with another capacitor C,. If their common potential is 40
volts. then the value of C; 1s

4 uF 3r0Sy 890% ws 3A0E 100V TFHAaHe £ 53S0 Sabedd. s v
u»lgué Aoc., Sufodtd, C; & LTS SrHnb £ VAroddAT Sedu.dd. T8 dwe)
a0)é TOS 40V 0008, C; dewd

Options:
1 % 2UF
2 ® 3 !IF

3 % OMF

4‘%?6;1}7

Question Number : 109 Question Id : 8135612669 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): As soon as a source of emf 1s connected across a conductor. a current
immediately starts flowing through it.
Reason (R): Drift speed of the electron is so large that electron travel from one end of the

conductor to the other end almost instantaneously.

QBB (A): DA(E"\0S W0 BISD) w8 TR &0 Dobd o’ DS
DT FBoBMR.

560 (R): QUF"R0 6D A0 e I8y, 3. TS ANS” 28 DI6 ot Tottd WAGLH
GERW p)ug"gaw Dasreiaw.

Options :

1. %
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Both A and R are true and R 1s a comrect explanation for A
A 208050 R Bodr 28GHH. 208050 R 938 A & D8I D56

Both A and R are true but R 1s not a correct explanation for A
)« A 200050 R Socr 201D, SO R €38 A & 20D DI6E 57

A i1s true. R 1s false

o o A XBEHB, 5 R 26 5

A 15 false. R 1s true
i A 06030 R 280D 5

Question Number : 110 Question Id : 8135612670 Display Question Number : Yes Is Question
Mandatory : No

Two galvanometers A and B require 3 mA and 5 mA respectively to produce same deflection
of ‘I, divisions. Then,

Iy DePITOR) w8 80360 $DAEAS Goth rrvsa*'bmgs.) SR 3 mA bk 5 mA
BIV0. VY A bakn B o mqg SEIATTANW

Options:
A 1s more sensitive than B

| BST) A 85 203 S0 éotod

B 1s more sensitive than A

A ST B 2535 R0R) A0 &otod
2. ®

A and B are equally sensitive
- A 00030 B Colre "m:)‘)_e:tan
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; .
sensifiveness of B 18 ? times that of A

5
B m:)‘laasm A Sa':l — 0t Gotod
4. % 3 °

Question Number : 111 Question Id : 8135612671 Display Question Number : Yes Is Question

Mandatory : No

The rectangular coil of area A 1s in a field B. Find the torque about the

Z-ax1s when the coil lies in the position shown and carries a current L.

A 7o SDAD w8 Y BBBYTS 0 Brichht) B k) ©ad)0d
23508 GoBGIR. DS Erdd FIANY” Gortered O
08 ol I R IES DI, Z L300 DO er8), Jods?

Options:
[AB in negative Z—axis
Z ©9£2000 26 [AB 20e7d) S0

IAB mn positive Z—axis

Z 9520 O6 IAB awaésm
2.9 -

2IAB m positive Z—axis

 Z g8 56 2IAB c&we:&és.‘:m
3. * @

2IAB in negative Z—axis
Z 9835 56 2IAB mwaés:m
4. % @

Question Number : 112 Question Id : 8135612672 Display Question Number : Yes Is Question

Mandatory : No
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The earth's magnetic field at a certamn place has a horizontal component 0.3 G and the total
strength 0.5 G. The angle of dip 13

BT DAY AP WD 08 ESIW IS £88 VAredTTeA 0.3 G DB 2w
£850 0.5 6 0ond wddrd Endw

Options :

Question Number : 113 Question Id : 8135612673 Display Question Number : Yes Is Question
Mandatory : No

A flexible wire bent in the form of a circle 15

placed in a uniform magnetic field. such that the ;
L] E
field 1s perpendicular to the plane of the coil. The b/*
radius of the coil changes as shown. The graph of a Ir I
magnitude of induced emf in the coil is ; | |
represented by ' :
P . 0 1 ) v

| —t

TTE B 8 Erdod’s Socsedd ws 8,

TR B0 2568 L) 08 FTIS VotIo GotDED Gotse) . Sif i) aE)
353'3&33 H008" Bradin Srddod) 8. wond 208 o HBArHR) & Sod D T2

ArOi08?
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Options :
L]
Y
|el
-
0 1 2 X
1. # TONN.: -
&
Y
&
| e
r
| <
0 | 2 X
H —
2. ¢
,f?
&
lel| [
s
() 1 2 X
3. % t .
&
Y
|l |
8] | 2 X
Em——

Question Number : 114 Question Id : 8135612674 Display Question Number : Yes Is Question
Mandatory : No
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An 1deal solenoid has 1000 tumns per meter and 8 cm radius. The current in it varies at a uniform
rate of 0.02 A.s7*. A circular coil of radius 2 em is placed inside the solenoid such that ifs axis
coincides with that of the solenoid. Find the induced electric field at a point on the circumference of

the coil and that at a point outside the solenoid at a distance of 12.8 em from its axis.

8 56 ook 8 om TRrgin 30805 Doty 1000 ot 49 63) 8. TS’ ey
DTaw 0.02 457" D668 Be0d Ardeod@. 2 om Tirgan sBAS a8 H8w JOrané
600 i AT Sotsd A6, 0008, &8 S8 HOED w8 Dociay 3¢ Svdain Tdrawé
L0 O£ Aod. 12.8 om Arding’ &) w8 Dok ¢ 200 xS Fddwen

Options:

1 & Stx10°% V.m™?! & 2rx1077 Vv.m™?

g T %107 Vo & Brxle™7 V.m™

2
2 % 6r X107 V.m™! & 2mrx1077 V.m?
4 % 8rx10°%8 Vv.m™! & 28mx1077 Vv.m™?!

Question Number : 115 Question Id : 8135612675 Display Question Number : Yes Is Question

Mandatory : No

- dde . o
Dimensions of €, ;e same as that of (symbols have their usual meanings)

d
€0 di:- ag), odoen B8 DATIAN? (Mden T aws), FEron Bghnd’)

Options:

Potential

% B Tow 015)
1. % 2
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Current

5 @ 3@56

Charge

3 % YOI

Capacitance
Q&ba)s.)

4, ®

Question Number : 116 Question Id : 8135612676 Display Question Number : Yes Is Question
Mandatory : No

A radio transmitter operates at a frequency 880 kHz and a power of 10 kWW. What 1s the number

of photons enntted per second?

w8 Ba.odr pr0es 880 kHz ava::m‘gan Sodosw 10 kW &m%m 56 HABAED) 6.
NSRS &Ly Jerd v 02| Jod?

Options:
1 % 1.50 x 10%°

2 % 1.60 x 1039
3 1.72 x 103

30
, % 280X 10

Question Number : 117 Question Id : 8135612677 Display Question Number : Yes Is Question
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Rutherford’s experiments on scattering of u-particles proved that:
6ras6 I'6 Serew HBZDE DATHAD & $od BID JErDRO?

Options:
Atom 1s mostly empty

| g DO TERD 279 HAFAD

Positive charge 1s uniformly distributed in the atom

, & GTDI0 DOATEVNY” DSOS DG Bod GoOD

Number of positive charges is equal to the number of negative charges

3 % G 22D LFDTRL RedT )

Atoms contain electrons

DEATEDYL DUTD VA $HA Goco
4, % &

Question Number : 118 Question Id : 8135612678 Display Question Number : Yes Is Question
Mandatory : No

The binding energy per nucleon of 3Li7 and zHe* nucler are 5.60 MeV and 7.06 MeV.
respectively. Then. in the nuclear reaction ,Li’ + H e JHe* + He* + Q. the value of Q.

the energy released. 1s

[Li7 508080 He* Bogsrosy w8) Ar8oirs € o togdsgen SERm 5.60 Mel’ odokw
7.06 MeV @008, & Sobd Sods tO(E" ADET 38 ) dod?

J 1 4 4
i+ H — He" + He" +Q

Options :

, % —2.4 MeV
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3 % 84 MeV

4 o 17.3 MeV

Question Number : 119 Question Id : 8135612679 Display Question Number : Yes Is Question
Mandatory : No

Figure shows a half-wave rectifier with resistive

load R; , which 1s far greater than the diode’s N
. . . ‘ . * Vi
forward resistance. If the value of capacitance is i ¢
considerably large. then the D.C. voltage across 00 ke
Ry is s 2K
= |
y

S 8 03 8o 588 68, &6 oG

R, &oré :;;t'fas&an A ¢80 o) rer Ly D,
SNOD, ARAHD Ly, e A ot
R, N80 o Sd0 6y D.C G

Options:

1 % =10V
2. ® 5V
3 % = 14V
4 =28V

Question Number : 120 Question Id : 8135612680 Display Question Number : Yes Is Question
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A sinusoidal voltage amplitude modulates another sinusoidal voltage of amplitude 2 kV to

result in two side bands, each of amplitude 200 V. Find the modulation index.

2kV 568 8003 0 580D 2,8 D Bdoridn BAINE PO JTE S0 HONS
BB ArdxTS Babrdds. T Jvd 2 kV SGE 36rmIS adipper 200V
S0 HBS DA Toch HEeD D6YGS, SrETH ) odd?

Options:
1.v 0.2
> & 0.3
3 % 0.4

Chemistry
Section Id : 81356158
Section Number: 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 8135612681 Display Question Number : Yes Is Question

Mandatory : No
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If the uncertamties n position & momentum are equal. the uncertamty in the velocity 1s

(S5 300080 5230 Ddanersokes’re eSS PArHE, SrAwe’ Sy
b ® &

aaaaeasa»
Options:

h
1.8 N1

h
> % 211

1 h
3.\»?2?“ I1

1 h
4 % 2m 4/ 211

Question Number : 122 Question Id : 8135612682 Display Question Number : Yes Is Question
Mandatory : No

The number of waves made by a Bohr electron in one complete revolution in its 4™ orbit is
43855 6 v H6 VTN AWE), 28 JPY HOFLRING” Ty SR Vo) od?

Options :

1.8 1

2. % 2
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4.v %

Question Number : 123 Question Id : 8135612683 Display Question Number : Yes Is Question
Mandatory : No

The region of electromagnetic spectrum and the energy of photon, respectively. of the line

obtained at 1.4 X 10° m ™" in the atomic spectrum of hydrogen are
[h = 6.626 X 107>* J.5]

e agoes” 1.4 X 10° m™ 36 6 8 DoaiF)os Hiiod Fordd
Dot dokw & Ferd 349 €0 ot [h=6.626 X 107°* I.s]
Options:

Visible. 13.84 x 1077 ]
36, 13.84 x 1077

Ti

Visible. 27.72 x 10°%° 1

3 —20
, o &F$6.27.72x 107207

U.V region. 16.9 x 107°°J
3 % 930S TS Jrodho. 16.9 X 1073

Infrared region. 14.2 x 107 J

, % DO Fodo. 142 X 10707

Question Number : 124 Question Id : 8135612684 Display Question Number : Yes Is Question

Mandatory : No
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Match the following:
Column-I Column-II
(a) F (1)  Maximum ionization enthalpy
(b) CI (1)  Maximum atomic radius
(c) He (1) Maximum electro negativity
(d) Cs (1v) Maximum negative electron gain enthalpy
Sod TR RADAWAD:
Sod1 Sod-1I
@ F () (B ©aRSEN Joady
) Cl (i) (8 HESre 353“3:133
(c) He (1if) A0 AVEIE(ETS) 5O
d) Cs (iv) (0% .)vgs S .)o:p'bl
Options:

. % (a—iv),(b—iii),(c—i),(d—ii)

, x (a—iii),(b—1i),(c—iv),(d—ii)

3 ¢ (a—ii),(b—1iv),(c—i),(d—ii)

4 % (a—i),(b—iv),(c—iii),(d—ii)

Question Number : 125 Question Id : 8135612685 Display Question Number : Yes Is Question

Mandatory : No

An element of atonuic number 118 would be a/an

118 D625 e0 "eouagls SO DAIPVSAN
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Options :

Alkali Metal

, x O 5% 580

Lanthamde
o 0BG

Noble gas

, o SRR ToD)

Transition element

4 % DO0D0R DT

Question Number : 126 Question Id : 8135612686 Display Question Number : Yes Is Question
Mandatory : No

[dentify the correct order with respect to first ionization energies of the given elements:
Agb) nase.}da SrUSTY VG VORI aoqrbho 20 90000 S0

Options:
14 C >Be >B > Li

> C >B > Be > Li

3 xBe>C>B > L

4 ®Li >Be >B >C

Question Number : 127 Question Id : 8135612687 Display Question Number : Yes Is Question
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Mandatory : No

In which of the following substances will hydrogen bond be strongest?

S0 T°J¢° GED TFEBD Lo fh DB?

Options :
1. % HCI

2, v 120
3, % HI

H,S

Question Number : 128 Question Id : 8135612688 Display Question Number : Yes Is Question
Mandatory : No

In XeF,. XeF, and XeF;. the number of lone pairs of electrons on the central atom, respectively are
XeF,. XeF, $08010 XeFg 0" 306 HOSraYP (0 2000 JUSS 2ok Rogf SR

Options :
1.% 2, 3, 1

Question Number : 129 Question Id : 8135612689 Display Question Number : Yes Is Question
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Mandatory : No

If a molecule has trigonal bipyranudal shape. the hybridization is

28 oY’ BEHab BHENE 88D Got) ord AwE), VosBECmB

Options:

3
1. % P

2
2. % dsp

3. v dsp’

4. % d*sp’

Question Number : 130 Question Id : 8135612690 Display Question Number : Yes Is Question
Mandatory : No

Calculate the density of H, gas at 230 °C and 6 atm pressure.

230 °C 208030 6 atm DESo DG H, TOINY AE), FoBS Jdod?

Options:
| % 0.641 g.ml™

, o 0293 g.ml™?!

5w 0.082 g.ml™t

4 % 0.010 g.ml™
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Question Number : 131 Question Id : 8135612691 Display Question Number : Yes Is Question
Mandatory : No

An evacuated glass vessel weighs 50 g when empty. 144 g when filled with a liquid of density
0.47 g.L™" and 50.5 g when filled with an ideal gas at 760 mm Hg at 300K . Then find the

molar mass of the ideal gas.

760 mm Hg &880, 300K © 36 8 o Sdatbrd e g erdo 50 g. ©F & I

047 g.L" Frosd (0 a8 §308 QDI T ardo 144 9. w639 & FE 28
uda;,a*ommﬁ QoYW 50.5 g &rdo $dh &) & A0, & B66) Ak AWS),
Arerd g::lpa

Options:
1 « 61.57

, % 130.98

5 % 85.94

4 % 125.75

Question Number : 132 Question Id : 8135612692 Display Question Number : Yes Is Question
Mandatory : No

Find the normality of sodmum bicarbonate solution containing 8.4 g of NaHC 05 in 250 ml ?

(Equivalent weight of NaHCO; =84 g.eq™")

250 ml Yéado Qs'ﬁabéﬁ om0’ 8.4 g. NaHCO; 00 &otl & ordeso Wéaﬁ Do’
(NaHC0; doverdo = 84 g.eq™)

Options :
1 % 01N
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, ¢ 04N

3 % 1N

4% 4N

Question Number : 133 Question Id : 8135612693 Display Question Number : Yes Is Question
Mandatory : No

A sample of drinking water was found to be contaminated with CCl,. The level of
contamination was 8.5 ppm by mass. (Molecular mass of CCl; = 153.18 g.mol™)
(1) Calculate the contamination level in mass percent.
(11) Calculate the contamination level in molahty

28 NEI2FTS’ grord) Sorr 8.5 ppm. CCLy 2P0 &) & Aot 38,
(CCly or@SE-? = 153.18 g.mol™)

(i) 333 T8 & 080 Do T8) ot

(ii) & 2090 Dewdy Arerde” T8) ocodw

Options:
. % (1) 0.85% ; (ii))85%10™*m
, » ()85x107% ; (ii) 0.55%x 10 m

3 » (0)85% ; (ii)85x 107 m

4 % (1) 85% ; (i) 55m

Question Number : 134 Question Id : 8135612694 Display Question Number : Yes Is Question
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A certain reaction, for which the enthalpy change 1s 24.85 kJ. 1s at equilibrium at 82 °C. Find
the value of AS for this reaction.

82°C 63 a8 VL 50 PE-DIE" 6:5)6. S00at) & O a')nf:;:“bb S 2485 kJ.
Q 8 @

0003, €3 :505 aws), AS QRS

Options:
1 % 55 LK t.mol™

, % 60 LK~ . mol™
3 % 68.5 . R'_l.mol_"

4. 70 . K . mol™?

Question Number : 135 Question Id : 8135612695 Display Question Number : Yes Is Question
Mandatory : No

If the enthalpy of combustion of CHy and CH;0H are ‘—x" and ‘y’ respectively. then find the

: ; 1
enthalpy of the reaction CH, + i 0, — CH;0H

CHy 000t CH;0H © 653 aat;rbhv RVSR SEAM ‘—x" Sdatw ‘Y’ wand,
CHy + % 0, — CH;0H dotrdy 3760y 88 0t80?

Options:
1.8 —ERY

> 8 X—Y

4. %8 Xty
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Question Number : 136 Question Id : 8135612696 Display Question Number : Yes Is Question
Mandatory : No

Consider the following reactions in which all the reactants and products are i the gaseous state

2PQ 2 P,+0Q, K =25%10°
1 2
PQ+—R, @ PQR K, =5x107

gy 1 1 1
Then the value of K, for the equilibrum = P, + 5 Q, + i R, 2 PQR equals

$05rB 5, GET) ) B a»oangva:ges‘ (50 808 SIS 6 HOredotsol.
2PQ 2 P,+0Q, K =25x10°
PQ+%R2 2P0R K,=5x10"°

—Py+ =y + R, = PQR 0 030004 K; Dend

Options:
;% 25%107°

, ® 5%107°
3 % 5 X 10-5

4 » 16207

Question Number : 137 Question Id : 8135612697 Display Question Number : Yes Is Question
Mandatory : No
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Given the pK, of a weak acid HA as 4.60 and pKj, of a weak base BOH as 4.80. then find the
pH of 0.1 M solution of the salt BA. formed from HA and BOH.

HA ©3 08 0oird 80 g, pK, Dens 4.60 208asw BOH &3 28 wuerd 60
aws), pKj, e 4.80 ond, HA 805 BOH © Aot 2003 BA ©3 vdmoe ang)
0.1 M mrdeo s, pH Jend

Options:
1. % 7.10

, « 6.90
3 % 4.70

4 % 9.40

Question Number : 138 Question Id : 8135612698 Display Question Number : Yes Is Question
Mandatory : No

The number of co-ordination bonded water molecules associated with CuS0,.5H,0 1s

CuS 0. 5H,0 6" 2008 ddiraad woged tofodnd A ©mw Doa

Options:
1.% 0
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Question Number : 139 Question Id : 8135612699 Display Question Number : Yes Is Question
Mandatory : No

A sodmum salt of an unknown anion when treated with MgCl, gave a white precipitate only
upon boiling. Identity the anion.

w8 30D eard o Féae vmd) MgCl, & 56 26500, S BADYE
ISP wE YY) BIZF) 618, & BICS

Options:

2_
. % 50,

4« HCO;

Question Number : 140 Question Id : 8135612700 Display Question Number : Yes Is Question
Mandatory : No

Identity the mcorrect statement in case of diborane structure
GeS"BD S DotioBot) S N GE0DD (oBotSoC.

Options :

There are 2 bridging H atoms 1 diborane

, G583 & T0b rEad w suY

The H atoms are not i the same plane mn diborane
, DOATEVDD 28 SeHS” FY
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B atom is SP3 hybridized in diborane
3 % G888 &° SP? DO $056868A0 Bod Sotwod

All B-H bonds in diborane are similar
% i £5°83 &° ) B-H otren w8 DB &otrow

Question Number : 141 Question Id : 8135612701 Display Question Number : Yes Is Question
Mandatory : No

Which element among the following can react with steam?

208 Ao’ DOS Do €56] Towo SarwSI D&?

Options:
1.% C

2_3& Si
3, % Ge

Question Number : 142 Question Id : 8135612702 Display Question Number : Yes Is Question
Mandatory : No

Which among the following oxides of nitrogen is a potent greenhouse gas?

S0 IS JT'AS AIrg) 836 V" VD VSR TV JE?

Options:
1. ¢ N,O
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. NO
2%

_ N,0.

Question Number : 143 Question Id : 8135612703 Display Question Number : Yes Is Question
Mandatory : No

(1) The IUPAC name of acetone 1s
(1) The corresponding functional 1somer of acetone is

(1) INE'S cawsg), [UPAC Trdvo 26?7
(i) DDE'S AIS), DAOH DA F Gy F[EAD A7

Options:

(1) Secondary propanone; (11) Propanoic acid
= i (i) DBocd THSI: (ii) THJowS &0

(1) Tertiary propanone: (11) Propanol

, 5 (1) ©8aD8 TDIS: (i) TOIS

(1) Butanone: (11) Butanol

3 % @ wSEJSE:: (ii) ew(eoeS

(1) Propanone: (11) Propanal

L THI: (it) TS

Question Number : 144 Question Id : 8135612704 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

Mandatory : No



AP EAPCET 2021

During estimation of N present i an orgonic compound by Kjeldahl's method. the ammonia
evolved from 0.5¢g of the compound in Kjeldahl's estimation of N, neutralized 10mL of
IM H,50,. The % of N m the compound 1s

2Y DTG’ 28 S W3 ¥ G PERD A Lo oY@ 0.5¢ S0
0¥ oo Déaswond eardasr 10mL 1M H,S0, & am?gsboam. &
A0 ¥dw &' N erdTdaw

Options:
1, v 26%

5 % 4'8“/0

Question Number : 145 Question Id : 8135612705 Display Question Number : Yes Is Question
Mandatory : No

In CCP arrangement. the total number of octahedral voids are

CCP ©0:2088¢" 9308 Sogrw NS Dod

Options:
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Question Number : 146 Question Id : 8135612706 Display Question Number : Yes Is Question
Mandatory : No

The vapor pressure of a dilute solution of glucose 1s 750 mm of mercury at 373 K. The mole
fraction of the solute 15

373 K 36 28 DS ArE8 mraman erigydedaw 750 mm 8. mdsan ard
aPAAD
Options :

1
1.% 10

Question Number : 147 Question Id : 8135612707 Display Question Number : Yes Is Question
Mandatory : No

If the weight ratio of non-electrolyte solutes m two 1sotonic solutions of A and B 1s 2 ¢ 3. then
find the ratio of their molecular weights.

A B0iw B 9 vh@s&sgas TAT (10 Tamud AT éTdan 2 : 3 ok
& Ootir DVEPRS Vo T8 erErT e AN

Options:
1.v 2% 3
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Question Number : 148 Question Id : 8135612708 Display Question Number : Yes Is Question

Mandatory : No

Which among the following correctly represents the reducing strength of given species in

aqueous medium?

S08) QoSG 20 TITVS” AP 2B LAHEEN I 3D g

Options:

1 o Eu*t < PR Zn®t < A1

5> % AP* 280t 2P < tu™

., u P <™ a2 m™

4 8 BHTE P SET A

Question Number : 149 Question Id : 8135612709 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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The electrical resistance of a column of 0.05 M NaOH solution of diameter 1em and length

AP EAPCET 2021

S0cm is 6.5 X 10° ohm. Its molar conductivity will be

Lem 37§80, S0cm JEY o 0.05 M NaOH gradeasoo deiogQ) Besedn 6.5 x 10° ohm.

o' Arwd a*‘;’rsejs.‘.m

Options:

1 % 229.55 em® mol™*

5 1965 em? mol™?

3 % 149 § em® mol™!

4 % 280 Sem® mol™

Question Number : 150 Question Id : 8135612710 Display Question Number : Yes Is Question

Mandatory : No

For the reaction 2 A+ B, —— 2 (. the following data 1s provided. Find the overall order of this

reaction.

24+ B, — 2.C 0 536{% 80 D86’ Didren A0, t6[ 20850 Saresaw

Options:
Y -

Experimeut [4] (mol.L™*) | [B] (mol.L™") —
o (mol.L™%.s7Y)
l 0.5 0.5 1x107*

2 0.5 1.0 2%107*
3 10 1.0 2%107*
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3 % 3

4.¢ 1

Question Number : 151 Question Id : 8135612711 Display Question Number : Yes Is Question
Mandatory : No

Which of the following Absorption-Temperature graphs represent the variation of physical
adsorption with temperature?

S0t ar OB PSS’ DB FAE LOT M, &GOS Srd Do) Bdokioiny?

Options:
i .
D 3 3
Imnp-:mmn-'
1 % =Jge

|\

S

I emperuture

alge

08 AT Onan
Abs STPLOon

i
»

2.«
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0L AT kAL
Absorplion
>

: / '\\
/ \
. \
| emperature
& (ge
£ =
T =
e E
Q 7
9 =
&
s ’
Temperature
4, % s

Question Number : 152 Question Id : 8135612712 Display Question Number : Yes Is Question
Mandatory : No

The oxide formed by 10dine which 1s used for the estimation of carbon monoxide 1s

svoaﬁ ArTHE awe) DBerard)s o', GDOIEANE BArEd aIg), 3G

Options :

. % 120

2.v 1205

5 % 103

4. % L0,

Question Number : 153 Question Id : 8135612713 Display Question Number : Yes Is Question
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Mandatory : No

Tomization energy of mtrogen is more than that of oxygen because of
2D cng), LaHRSGNn 3, B8 \ad g 88\80m 3§ Soff Iy, STERAY

Options:
Higher penetrating effect

. 2 SN SIAT'RQ) RETHI BSN™ Gokdio SV

Smaller size of N-atom
'R DOATEDD) W) B STHEIN D

Greater attraction of electrons by the nucleus

& SoBAWS08 VST L0 LV BSPotHICIDD DV
3.7 -

The extra stability of half filled p-orbital

" 50 Dotd p-e58,eF) SO 0dS ?369‘.’95;:1» TotO8) SEELVT

Question Number : 154 Question Id : 8135612714 Display Question Number : Yes Is Question
Mandatory : No

Which oxide of Nitrogen. among the following. 1s a colored gas?
RS cg), B3 E 0S° D Gord SO TR

Options:

. % N20s

> ¢ NO;

3 & NO
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4. % N20

Question Number : 155 Question Id : 8135612715 Display Question Number : Yes Is Question
Mandatory : No

Co is 27" element in periodic table. The Electronic configuration and Magnetic moment of its
dipositive 1on respectively, are

Co 5363 DESS" 27 5 Jureso. & BAETDF GATD AS) JUF™S DT(Ro dakw
0N, 08 EP&IS0 SET

Options:
. [Ar]3d7, V24B.M

, % [Ar]3d7, V15B.M

;3 v [Ar]13d74s?, V15B.M

4 » [Ar] 3d"4s*, VBB.M

Question Number : 156 Question Id : 8135612716 Display Question Number : Yes Is Question
Mandatory : No

Which of the following pairs of solutions can be distinguished by Fehling solution?
B3P D Erome 208 Dawdeh Trondn & (B b HELHLHD?

Options:
Glucose and Fructose
ArSE Sodatw PEE

T: ™
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Fructose and Sucrose

5 o DEE bk WES

Fructose and Mannose
L« D58 oo 9

Lactose and Maltose

, x TES Dobaw Srg'S

Question Number : 157 Question Id : 8135612717 Display Question Number : Yes Is Question
Mandatory : No

During the process of preparation of CHCl;, which among the following statements are true?
(1)  Bleaching powder on reaction with H,0 gives Cl,.
(11) Cl, reacts with ethanol and produces acetic acid.
(1) Chloral 1s formed from the reaction of excess Cl, with acetaldehyde.
(1v) Ca(OH), cannot hydrolyze chloral to give CHCI,

CHCl; $08r6> Bako e[S Rotiofodd 99 Diaosren
() O Dok b wos S0 E63 68\d e
(i) Cl, RS & 6] Tod DBE 00 6yEow
(iii) 68§63 & IrS & é t56[ Job §TES Doy
(iv) CHCly Doy dewrr Ca(0H),, Eos & 20 Diimsw Sabge

Options:

(i) & (ii) only
1 % (1) & (ii) S

(ii) & (iii) only
, x (i) & (ii) Srgd

3. %
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(iii) & (iv) only
(i) & (iv) SrS

(i) & (iii) only
4 (1) & (iii) Soredad

AP EAPCET 2021

Question Number : 158 Question Id : 8135612718 Display Question Number : Yes Is Question

Mandatory : No

Identify the correct structure of methyl henuacetal of benzaldehyde from the following.

Bozriré aog), PG PDIVTES @), e

Options:
OCH-.
. 3
CeHs—CH_
i OCH;
CHO
>
CBHS_CH N
, OCH,
S
OH
7~
CﬁHS_CH\
3.V OCH,
_0OCH,
CeHs—CH=C__ |
A% OCH,

Question Number : 159 Question Id : 8135612719 Display Question Number : Yes Is Question
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Mandatory : No

Which among the following 1s most acidic?

Sob T7ES° DO BB(od LVDD B VI FAID

Options:
OH
1.% @
OH
2, = NO,
OH
O?N¢Noz
T, NO,
OH
4, % (Hj

Question Number : 160 Question Id : 8135612720 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Mandatory : No

Benzoic acid gives benzene on being heated with ‘X” and phenol gives benzene on being
heated with *Y". Then. X and Y respectively are:

Bozrons AR X & B S oS Sed. DS A ¥ & 36 Y Hodd 6. X
20800 ¥ Sddm

Options:
Soda-lime and Cu

, x Vo= g0 Bodakn Cu

Zn-dust and Soda-lime
, % ®oS TC datw Ve g

Zn-dust and NaOH
3 % 208 IE odaiw NaOH

Soda-lime and Zn-dust

4 v Ve T HBosL 2oS T
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